AVENTICS C12P 2 —=X 24OV
DOz

AVENTICS™  AVENTICSC12P > )—X & A é
W s3I, i \
A ko EMERSON.



AVENTICS C12P > —X 24Oy R VA 2
2024-03-26

< 1)—XC12P

AVENTICS C12P 1) —X |&. B# @ CNOMO NFE 49-001 [C##L 22 A ) —XT, BBFEOF77U5—>3>
CRXhBDEDTT,

XA40OY R 1> A — CNOMO NFE 49-001
NFE 49-001 - %31

@25 ...200 mm

ARO—2&K : 2300 mm

O/NA NERE

FA7°703ar  EfiEEANOY R, a4

4

od

EMERSON.



AVENTICS C12P > —X 24Oy R VA 3
2024-03-26

240OY RS 1) > A — CNOMO NFE 49-001, > 1J—X C12P

CNOMO / NFE 49-001

TA77A40L2 VA= R2/40Y RSV A —
$RER

gl

NJZY NsULERKNY

= ERS AR

H#hal

It U

A7) EE

F7° a3 TEMmMG

EAbB AO—% R—k ®=E AI9L—/N EARAMY EANY NTUTILES
> o [mm] I AAE 7 HEmE
[mm] [N] [N]
25 25 G1/8| ZERHI| XIxY K~ M10x1,5| ZEXTZEH 238 309 7472021375
BEiEE | ALEARR AOL—N
>
25 50 G1/8| ZERHIT| XTIV K~ M10x1,5| ZBETEHA 238 309 7471323938
HEE | BLERAR 2L —/Y
>
25 75 G1/8| Z=EREHA| YITXY N M10x1,5| ZEXETXH 238 309 7471326291
HEREE | ALEARN AUL—N
>
25 100 G1/8| ZERHI| XTxY K~ M10x1,5| ZEXETHEH 238 309 7472021306
BEE®E | BLEARR AIL—N
>
25 125 G1/8| ZERHI| XTIV K~ M10x1,5| ZEXETEH 238 309 7472021423
BEEE | BLEARR AOL—N
>
25 150 G1/8| ZEREHA| YITXVY N M10x1,5| ZXTHH 238 309 7471325225
BERE | BALEAN AL—N
>
25 200 G1/8| Z=EREHH| YITXY N M10x1,5| ZEITER 238 309 7472021307
BEEE| SLEARN ATL—N
>
25 250 G1/8| ZERHI| XIxY K~ M10x1,5| ZETI¥HA 238 309 7472021425
BEEE | BALEARR AOL—N
>
25 300 G1/8| ZERHIT| IITXRY K~ M10x1,5| ZEETERA 238 309 7472410994
BEE | BULERN 25 L—/\
>
25 350 G1/8| Z=EREHA| YITXY K M10x1,5| ZEI¥R 238 309 7472021270
BEEF| BSLEAKN ATL—N
>
25 400 G1/8| ZERHI| IIxY K~ M10x1,5| ZEXTZEH 238 309 7472401648
BEiEE | ALEARR AOL—N
>
25 500 G1/8| ZERHIT| XTIV K~ M10x1,5| ZEXTHH 238 309 7472415190
BEEE | BLEARR AOL—N
>
32 25 G1/8| Z=EREHA| YITXY K M10x1,5| ZEXETHEH 435 507 7472022357
HEREE | ALEARN AUL—N
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA 4
2024-03-26

EAN AkO—7 R—K EANY EANY XTUT7ILES
> @ [mm] HAFE  HHEAE
[mm] [N] [N]
32 50 G1/8| Z=ERHA| YIXRY M10x1,5| ZEIT¥R 435 507 7472407255
EEE | BLEABM AIL—N
>
32 75 G1/8| Z=EREA| YITXY KN M10x1,5| ZET¥A 435 507 7471323019
HEEE| BLEAB AIL—N
>
32 100 G1/8| ZERHIT| XTIV K~ M10x1,5| ZXTZH 435 507 7472022359
BT | BLEARR AOL—N
>
32 125 G1/8| Z=EREHA| YITXY N M10x1,5| ZEEIEH 435 507 7472415023
HERRE | BLEARL AOL—N
>
32 150 G1/8| Z=EREHH| YITXY KN M10x1,5| ZET¥R 435 507 7472020278
HEEE | BLEARB AIL—N
>
32 200 G1/8| Z=EREA| YTXY KN M10x1,5| ZEXTZEH 435 507 7472406069
BEEE | BLEARR AIL—N
>
32 250 G1/8| ZERHIT| XTxRY K~ M10x1,5| ZEXETHH 435 507 7472408135
BEEE | BLEARR AOL—N
4
32 300 G1/8| Z=EREHA| YITXY N M10x1,5| ZEIER 435 507 7472407872
HERRE | BLEARB AIL—N
>
32 350 G1/8| Z=EREHA| YTXY KN M10x1,5| ZET¥A 435 507 7472415302
BEEE | BALEARR AOL—N
>
32 500 G1/8| ZERHIT| XTIV K~ M10x1,5| ZEXETHH 435 507 7471323208
BEEE | BLEARR AOL—N
>
40 25 G1/4| ZERHA| YXTXRY M16x1,5| ZEIER 600 792 7472406622
HEREE | ALEARN AIL—N
>
40 50 G1/4| Z=EREHAY| YTXY N M16x1,5| ZET¥MA 600 792 7471323782
HEEE| BLEAB AIL—N
>
40 75 G1/4| ZERHIT| XTIV K M16x1,5| ZXETHEH 600 792 7471323635
BEEE | BLEARR AOL—N
>
40 100 G1/4| ZEREHA| YITxRY N M16x1,5| ZEEIEH 600 792 7471323351
HERRE | BLEARL AOL—N
>
40 125 G1/4| Z=EREHAY| YTXY N M16x1,5| ZET¥MR 600 792 R422701702
HEREE | BLEARL AIL—N
>
40 150 G1/4| Z=EREA| YTXY N M16x1,5| ZEXTZEH 600 792 7472406392
BEEE | BLEARR AIL—N
>
40 200 G1/4| ZERHT| ITXRY K~ M16x1,5| ZEXETHEH 600 792 7471327025
BEEE | BLEARR AOL—N
4
40 250 G1/4| Z=EREHAY| YTXY N M16x1,5| ZEIER 600 792 7472408589
HERRE | BLEARL AIL—N
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA S
2024-03-26

EAN AkO—7 R—K EANY EANY XTUT7ILES
> @ [mm] HAFE  HHEAE
[mm] [N] [N]
40 300 G1/4| ZERHA| YXTXRY M16x1,5| ZEIER 600 792 7471323634
EEE | BLEABM AIL—N
>
40 350 G1/4| Z=EREHAY| YTXY KN M16x1,5| ZETI¥HA 600 792 7472411100
HEEE| BLEAB AIL—N
>
40 400 G1/4| ZERHIT| XTIV K M16x1,5| ZXETHEH 600 792 7472407010
BT | BLEARR AOL—N
>
40 450 G1/4| Z=EREHA| YITxRY N M16x1,5| ZEEIEH 600 792 7471324059
HERRE | BLEARL AOL—N
>
40 500 G1/4| Z=EREHAY| YTXY KN M16x1,5| ZETEMA 600 792 7472409157
HEEE | BLEARB AIL—N
>
50 25 G1/4| ZERHI| ITXY K~ M16x1,5| ZEXTHEH 1077 1237 7472409225
EE| ALEZN 245 L—/%
>
50 50 G1/4| ZERHIT| ITXRY K M16x1,5| ZXETHEH 1077 1237 7472022353
BEEE | BLEARR AOL—N
4
50 75 G1/4| ZEREHAY| YTXY N M16x1,5| ZEIER 1077 1237 7471314844
HERRE | BLEARB AIL—N
>
50 80 G1/4| Z=EREHA| YTXY N M16x1,5| ZET¥MA 1077 1237 7472410143
BEEE | BALEARR AOL—N
>
50 100 G1/4| ZERHIT| ITXRY K M16x1,5| ZXTHEH 1077 1237 7471325013
BEEE | BLEARR AOL—N
>
50 125 G1/4| ZERHA| YXTXRY M16x1,5| ZEIER 1077 1237 7472406738
HEREE | ALEARN AIL—N
>
50 150 G1/4| ZERHI| ITxY N M16x1,5| ZET¥MA 1077 1237 7472020771
HEEE| BLEAB AIL—N
>
50 200 G1/4| ZERHIT| XTIV K M16x1,5| ZXETHEH 1077 1237 7472406297
BEEE | BLEARR AOL—N
>
50 250 G1/4| ZEREHA| YITxRY N M16x1,5| ZEEIEH 1077 1237 7472406739
HERRE | BLEARL AOL—N
>
50 300 G1/4| Z=EREHAY| YTXY N M16x1,5| ZET¥MR 1077 1237 7472410346
HEREE | BLEARL AIL—N
>
50 350 G1/4| Z=EREA| YTXY N M16x1,5| ZEXTZEH 1077 1237 R422701688
BEEE | BLEARR AIL—N
>
50 400 G1/4| ZERHT| ITXRY K~ M16x1,5| ZEXETHEH 1077 1237 7472409603
BEEE | BLEARR AOL—N
4
50 500 G1/4| Z=EREHAY| YTXY N M16x1,5| ZEIER 1077 1237 7472409483
SEE| BLEAN 29L—N
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA 6
2024-03-26

EAbB AkO—2 R—k EANS EANY NTUTINES
"} [mm] HABEE 1 HEmE
[mm] [N] [N]
63 25 G3/8| EERAMA| IURYN|  M20x15| EETEM 1724 1964 R422700862
EEE | BLEAM AO9L—N
>
63 50 G3/8| ZERHA| IURYN| M20x15| EEIHA 1724 1964 7472408333
BEEE | BLEABN AO9L—N
>
63 75 G3/8| ZEBHA| ITZYN| M20x15| EETEMH 1724 1964 7471323636
REEE | BLEAN AoL—N
>
63 80 G3/8| ZERHA| ITRYN| M20x15| EEIEA 1724 1964 7471325687
BEfRE | BALEAN AOL—N
p
63 100 G3/8| ZERHA| IURYN| M20x15| EEIEA 1724 1964 7471323565
HEEE | BLEARB AO9L—N
>
63 125 G3/8| ZEFHA| ITXY M| M20x15| EEIEA 1724 1964 7471323564
HEEE | BLEAN AOL—N
>
63 150 G38| ZERAMA| IUZYN| M20x15| BETEAH 1724 1964 7472405191
REEE | BLEARB AOL—N
p
63 200 G3/8| EERAMHA| IURYN|  M20x15| EETEAH 1724 1964 7471317716
HERRE | BLEARB AO9L—N
>
63 250 G3/8| ZEFHA| YUY K| M20x15| EEIEA 1724 1964 7471324119
HEREE | BLEAL AO9L—N
>
63 300 G38| ZERMA| IUZYN| M20x15| BETEAH 1724 1964 7472409996
REEE | BLEAN AOL—N
7
63 400 G3/8| EERAHA| IURYN|  M20x15| EETEH 1724 1964 7472409320
HEE| BLEAN 25 L—/%
>
63 500 G3/8| ZERHA| IURYN| M20x15| EETIHA 1724 1964 R422702553
BEfER | BLEAN AO9L—N
>
80 25 G3/8| ZEBHA| ITZYN| M20x15| EETEAH 2927 3167 R422702161
REEE | BLEAN AoL—N
>
80 50 G3/8| ZEFHA| ITRYN| M20x15| EEIEA 2927 3167 7472407308
BEfRE | BLEAN AOL—N
p
80 75 G3/8| ZERFHA| IURYN| M20x15| EEIEA 2927 3167 7472413875
HEREE | BLEARL AO9L—N
>
80 80 G3/8| BERAMA| ITRYN|  M20x15| BEIEA 2927 3167 R422702930
REREE | BLEAN AOL—N
>
80 100 G38| EEFAMA| IUZYN| M20x15| BETEAH 2927 3167 R422711132
REEE | BLEARL AOL—N
>
80 125 G3/8| ZEERAMHA| IURYN|  M20x15| EETEAH 2927 3167 R422701689
HERRE | BLEARL AO9L—N
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA 4
2024-03-26

EAN AkO—7 R—K BE EANY EANY XTUT7ILES
N, [mm] HAFE  HHEAE
[mm] [N] [N]
80 150 G3/8| Z=ERHA| YIXRY b M20x1,5| ZEI¥R 2927 3167 7472407112
EEE | BLEABM AIL—N
>
80 200 G3/8| Z=EREH| YITXY N M20x1,5| ZEET¥MA 2927 3167 7471325322
HEEE| BLEAB AIL—N
>
80 250 G3/8| ZERHI| XTIV KN M20x1,5| ZXTHH 2927 3167 7472406380
BT | BLEARR AOL—N
>
80 300 G3/8| Z=EREHA| YITxRY K M20x1,5| ZEEIEH 2927 3167 R422710660
HERRE | BLEARL AOL—N
>
80 350 G3/8| Z=EREHH| YITXY KN M20x1,5| ZEET¥MA 2927 3167 7472408586
HEEE | BLEARB AIL—N
>
80 400 G3/8| Z=EREA| YITXVY KN M20x1,5| ZEXTZEH 2927 3167 7472407310
BEEE | BLEARR AIL—N
>
80 450 G3/8| ZERHI| XTIXRY KN M20x1,5| ZEXETHH 2927 3167 R422702463
BEEE | BLEARR AOL—N
4
100 25 G1/2| Z=EREHAY| YTXY N M27x2 | BEIT¥RA 4503 4948 7472407578
HERRE | BLEARB AIL—N
>
100 50 G1/2| Z=EREHA| YTXY N M27x2 | BETHHA 4503 4948 7472406603
BEEE | BALEARR AOL—N
>
100 75 G12| ZERHIT| XTIV K~ M27x2 | EEITHHA 4503 4948 7471322980
BEEE | BLEARR AOL—N
>
100 80 G1/2| Z=ERHA| YTXRY b M27x2 | BET¥RA 4503 4948 R422706127
HEREE | ALEARN AIL—N
>
100 100 G1/2| Z=EREHAY| YTXY N M27x2 | BET#A 4503 4948 7472406081
HEEE| BLEAB AIL—N
>
100 125 G12| ZERHIT| XTIV K~ M27x2 | EBEIXEA 4503 4948 7471323871
BEEE | BLEARR AOL—N
>
100 150 G1/2| Z=EREHA| YITxY N M27x2 | BETHA 4503 4948 7472406273
HERRE | BLEARL AOL—N
>
100 200 G1/2| Z=EREHAY| YITXY N M27x2 | BET¥RA 4503 4948 7472407023
HEREE | BLEARL AIL—N
>
100 250 G1/2| Z=EREHA| YTXY KN M27x2 | BEIXA 4503 4948 7471325321
BEEE | BLEARR AIL—N
>
100 300 G12| Z=ERHIT| XTIV K~ M27x2 | BETHA 4503 4948 7472025400
BEEE | BLEARR AOL—N
4
100 350 G1/2| Z=EREHAY| YITXY N M27x2 | BEIT¥HA 4503 4948 7471323563
HERRE | BLEARL AIL—N
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA 8
2024-03-26

EAN  ARO—% K-k ERARNY  ERRY IFUTILES
"} [mm] B AKEE 1 HEmE
[mm] [N] [N]
100 400 G12| ZERHA| ITXY N M27x2 | BETIHR 4503 4948 7472406082
4 | mLERN AZTL—/\
>
100 450 G12| ZERBA| ITZY N M27x2 | TR 4503 4948 7472022334
HEEE| BLEAB AO9L—N
>
100 500 G12| ZERHA| IT%Y N M27x2 | BEI%RA 4503 4948 7471326316
BEE | BLERN 29L—/)%
>
125 25 G12| ZERHA| YTV N M27x2 | BEIHRA 7286 7731 R422709969
BiEE | BLERN 29L—=/)%
>
125 50 G12| ZERHA| ITXY N M27x2 | TR 7286 7731 7472408335
HEEE | BLEARB AO9L—N
>
125 75 G12| ZERLHA| ITZY N M27x2 | BEIEA 7286 7731 7471325478
BEE | BLERN 29L—/)%
>
125 80 G12| ZERHA| ITXY N M27x2 | BEI%R 7286 7731 7472409363
BiBE | BLERN 2IL—=/)\
>
125 100 G12| ZERHA| ITXY N M27x2 | TR 7286 7731 7472023817
HERRE | BLEARB AO9L—N
>
125 125 G12| ZERBA| ITZY N M27x2 | EEET A 7286 7731 7471323873
BiBE | BLERN 29L—/)%
>
125 150 G12| ZERHA| ITXY N M27x2 | BEI%A 7286 7731 7471325104
BiEE | mLERN 29L—=/)%
>
125 200 G12| ZERHA| ITXY N M27x2 | TR 7286 7731 R422705433
BEE | BULERN ATL—/\
>
125 250 G12| ZERBA| ITZY N M27x2 | EETHR 7286 7731 7471323026
HEEE| BLEAB AO9L—N
>
125 300 G12| ZERHA| IT%Y N M27x2 | BEI%A 7286 7731 7472406294
BEE | BLERN 29L—/)%
>
125 350 G12| ZERHA| YTV N M27x2 | BEI%RA 7286 7731 7472410120
BiEE | BLERN 29L—=/)%
>
125 400 G12| ZERHA| ITXY N M27x2 | TR 7286 7731 RA422703534
HEREE | BLEARL AO9L—N
>
125 450 G12| ZERLHA| ITZY N M27x2 | BEI%A 7286 7731 7472408587
BiEE | BULERN 29L—/%
>
125 500 G12| ZERHA| ITXY N M27x2 | BEI%R 7286 7731 7471323826
BiBE | BLERN 29L—=/)\
>
160 50 G3/4| ZERHA| ITXY N M36x2 | EBETIHM 11875 12667 7472408336
HERRE | BLEARL AO9L—N
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA 9
2024-03-26

AN  ARO—% K-k B EARY  EARY  IFUTLES
> o [mm] HABE P KA
[mm] IN] IN]
160 75 G3/4| ZERHA| YTXRY B M36x2 | EETEH 11875 12667 7472406019
LEE | mLEAN Z5L—IN
>
160 100 G3/4| Z=EREHY| YITXY KN M36x2 | EETHHA 11875 12667 7472408334
HEE| BLERN Z5L—I%
>
160 125 G3/4| Z=EREA| YTXY KN M36x2 | EEIXEA 11875 12667 7471323872
BEEE | BLEZN 25 L—)\
>
160 150 G3/4| ZEREHA| YTV N M36x2 | BETHHA 11875 12667 7472407361
HEE| BLERR 25 L=\
>
160 200 G3/4| Z=EREHH| YITXY KN M36x2 | EETXHA 11875 12667 R422705841
HEEE | BLERR Z5L—IN
>
160 250 G3/4| Z=EREA| YTXVY KN M36x2 | EETHHA 11875 12667 7471315415
SEEE | BLERN Z5L—I%
>
160 300 G3/4| ZERHIT| XTXRY K M36x2 | BETHHA 11875 12667 7472411971
HEE| BLERR 25 L—)\
>
160 400 G3/4| ZERHA| YTXRY B M36x2 | EETEH 11875 12667 R422705879
HEEE | BLERR Z5L—IN
>
160 500 G3/4| Z=EREA| YITXY KN M36x2 | BETHHA 11875 12667 7472414254
SEEE | BLERN Z5L—I%
>
200 50 G3/4| Z=EREHA| YTXY KN M36x2 | EEIX¥A 19000 19792 7472408337
SEEE | BLEZN 25 L—)\
>
200 75 G3/4| ZERHA| YTXRY B M36x2 | EETEH 19000 19792 7471326900
HEEE | BLERRN Z5L—IN
>
200 100 G3/4| Z=EREHY| YITXY N M36x2 | EETHHA 19000 19792 7472408338
HEE| BLERN Z5L—I%
>
200 125 G3/4| Z=EREA| YTXY KN M36x2 | EEIXEA 19000 19792 7472020636
SEEE | BLEZN 25 L—)\
>
200 150 G3/4| ZEREHA| YITXY N M36x2 | BETHA 19000 19792 7471305476
HEE| BLERR 25 L=\
>
200 200 G3/4| Z=EREHH| YITXY KN M36x2 | EETEH 19000 19792 7472408625
HEEE | BLERN Z5L—I%
>
200 400 G3/4| Z=EREA| YTXY KN M36x2 | BETHH 19000 19792 7472023503
SEEE | BLEZN Z5L—I%
>
200 500 G3/4| ZERHIT| IXTXRY K M36x2 | BETHHA 19000 19792 7472406281
HEE| BLERR 25 L—)\
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA

10
2024-03-26

&
E
#/SW (2Flats) ¢é</ .‘ T
a | | ++r1®8—--s-—-———— 8 ( \ w
= < —_— = —
S
ZJ1+8S
1) AEY MLRZY 31—
S=Ak0O—72
ERARY @ AM @B e9 O EE K B KK Kw
25 25 G118 6 M10x1,5 5
32 25 G1/8 6 M10x1,5 5
40 32 G1/4 8 M16x1,5 8
50 32 G1/4 8 M16x1,5 8
63 45 G3/8 10 M20x1,5 10
80 45 G3/8 10 M20x1,5 10
100 55 G112 16 M27x2 13,5
125 55 G112 16 M27x2 13,5
160 65 G3/4 16 M36x2 18
200 65 G3/4 16 M36x2 18
EARY @ sw VD WH Y
25 8 15 25 44
32 8 15 25 44
40 13 15 34 65
50 13 15 34 65
63 17 20 39 71
80 17 20 39 71
100 22 20 47 84
125 22 20 47 84
160 32 20" 80 115
200 32 20" 80 115

* 331 CNOMO NFE 49-001 & V) 5mmig W\

EMERSON.



AVENTICS C12P > —X 24Oy R VA

11

2024-03-26

240OY RS 1) > A — CNOMO NFE 49-001, > 1J—X C12P

CNOMO / NFE 49-001
TO77AL2VHE—ERAOY RSUDE—

A

RTFY RMIEEANY
EERHREE

U
it U
LTI B

EAN  RhO=Y  R—h AOL=N EARY  EARY  IFUTLES
> o [mm] HAFE S HFEE
[mm] (N] (N]
32 25 G18| =EBEW| TU/XYN| MI0x15| BETEM 435 507 7472404382
EEE | HEEAN Z5L—)\
2
32 50 G18| =EB/EHA| YURYK|  MI0x15| BEIRA 435 507 7472020373
REREE | HEEAN AVL—=N
2
32 75 G1/8| ZEBHA| YTXYK| MIOx15| BEIEM 435 507 7472011002
BERE | NEERD AVL—=N
2
32 80 G18| ZEBHA| TUXYN| WMI0x15| BETIEA 435 507 7471318835
BERRE | NEERDL AUL—N
2
32 100 G18| =EBEHW| TU/XYN|  MI0x15| BETEA 435 507 7472023181
BEMRE | NEERDL AIL—N
2
32 125 G18| ZEB/EHA| YURYN|  MI0x15| BETRA 435 507 7472408151
HEE | FEERN A9 L=\
2
32 150 G18| BEWHA| YIRYKN| MI0x15| BEIHMA 435 507 R422702876
HEE | HEERN A
2
32 200 G18| HEBEWA| TU/XYN| MI0x15| BETEM 435 507 R422701368
BERRE | NEERDL AUL—N
2
32 300 G18| ZEB/HT| YURYN|  MI0x15| BETRA 435 507 7471312499
BERE | FEERL AIL—=N
2
32 350 G18| BEWHA| YIRYKN| MI0x15| BETHM 435 507 7471314851
HEE | HEERN A
2
32 400 G18| ZEBEA| TU/XYN|  MI0x15| BETEM 435 507 7471313425
BEREE | NEEARDL AUL—N
2
40 25 G1/4| ZEBEHA| YTXYK| Mi6x15| BEIEM 600 792 7472414609
REREE | HEEAN AVL—=N
2
40 50 G14| ZEBHT| YTRYN|  MI6x15| BETEA 600 792 7471322877
BERRE | NEERD AVL—=N
2

EMERSON.



AVENTICS C12P > —X 24Oy R VA 12
2024-03-26

EAN  AhO—Y K-k EARY ERRY  IXFUTLES
> [mm] HABE O HEE
(mm] IN] IN]
40 75 G1/4| ZEREHA| YTxY N M16x1,5| ZEIER 600 792 7472012002
LEE | HECAN 25 L—)\
>
40 80 G1/4| ZERHI| ITxY K~ M16x1,5| ZETI¥HA 600 792 R422702911
HEE| FEERN 29 L—)\
>
40 100 G1/4| ZERHIT| XTIV K M16x1,5| ZXETHEH 600 792 7471321388
HEE| HEERN 25 L—/\
>
40 125 G1/4| Z=EREHA| YITxRY N M16x1,5| ZEXETHEH 600 792 7471315903
HEE| HEERN 25 L—/%
>
40 150 G1/4| Z=EREHAY| YTXY KN M16x1,5| ZETEMA 600 792 7472408158
HEE| FEERN 29 L—)\
>
40 200 G1/4| ZERHI| ITXY K~ M16x1,5| ZEXTHEH 600 792 7471318717
HEE| HEERN 25 L—/\
>
40 250 G1/4| ZERHIT| ITXRY K M16x1,5| ZXETHEH 600 792 R422702877
HEE| HEERN 25 L—/\
4
40 300 G1/4| ZEREHAY| YTXY N M16x1,5| ZEIER 600 792 7471326645
HEE| HEERN 29 L—)\
>
40 350 G1/4| ZERHI| IT%RY K M16x1,5| ZET¥MA 600 792 7471326094
HEE| HEEAN 29 L—/\
>
40 400 G1/4| ZERHIT| ITXRY K M16x1,5| ZXTHEH 600 792 7472408161
HEE| HEERN 25 L—/\
>
40 450 G1/4| Z=EREHA| YTxY N M16x1,5| ZEIER 600 792 7472403842
HEE| FEEAN 25 L—/\
>
40 500 G1/4| ZERHI| ITxY N M16x1,5| ZET¥MA 600 792 7471320525
HEE| HEEAN 29 L—)\
>
50 25 G1/4| ZERHIT| XTIV K M16x1,5| ZXETHEH 1077 1237 7472408174
HEE| HEERN 25 L—/\
>
50 50 G1/4| ZEREHA| YITxRY N M16x1,5| ZEXTHEH 1077 1237 7471310407
HEE| HEERN 25 L—/\
>
50 75 G1/4| ZERHIT| ITxY K M16x1,5| ZET¥MR 1077 1237 7472013002
HEE| HEEAN 29 L—)\
>
50 80 G1/4| ZERHI| XTIV K~ M16x1,5| ZEXTZEH 1077 1237 7471311603
HEE| HEERN 25 L—/\
>
50 100 G1/4| ZERHT| ITXRY K~ M16x1,5| ZEXETHEH 1077 1237 7471313232
HER| HEERN 25 L—)%
4
50 125 G1/4| Z=EREHAY| YTXY N M16x1,5| ZEIER 1077 1237 7472020079
HEE| HEERN 29 L—)\
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA 13
2024-03-26

EAN  AhO—Y K-k B EARY ERRY  IXFUTLES
> [mm] HABE O HEE
(mm] IN] IN]
50 150 G1/4| ZEREHA| YTxY N M16x1,5| ZEIER 1077 1237 7471315002
LEE | HEEAN 25 L—)\
>
50 200 G1/4| ZERHI| ITxY K~ M16x1,5| ZETI¥HA 1077 1237 R422701344
HEE| FEERN 29 L—)\
>
50 250 G1/4| ZERHIT| XTIV K M16x1,5| ZXETHEH 1077 1237 7472408176
HEE | HEERN 25 L—/\
>
50 300 G1/4| Z=EREHA| YITxRY N M16x1,5| ZEXETHEH 1077 1237 R422702811
HEE | HEEAN 25 L—/%
>
50 350 G1/4| Z=EREHAY| YTXY KN M16x1,5| ZXETEH 1077 1237 7471319643
HEE| FEERN 29 L—)\
>
50 400 G1/4| ZERHI| ITXY K~ M16x1,5| ZEXTHEH 1077 1237 7472408179
HEE | HEERN 2oL~/
>
50 450 G1/4| ZERHIT| ITXRY K M16x1,5| ZXETHEH 1077 1237 7472404259
HEE | HEEAN 25 L—/\
4
50 500 G1/4| ZEREHAY| YTXY N M16x1,5| ZEIER 1077 1237 7472411255
HEE | HEERN 29 L—)\
>
63 25 G3/8| ZERHI| XIxY K~ M20x1,5| ZEET¥MA 1724 1964 R422702945
HEE| HEEAN Z5L—IN
>
63 50 G3/8| ZERHI| XTIV KN M20x1,5| ZEXETHEH 1724 1964 7471315000
BEE | NEEAN 25 L—/\
>
63 75 G3/8| Z=EREA| YITxRY KN M20x1,5| ZEI¥R 1724 1964 7472014002
HEE | HEERN 25 L—/\
>
63 80 G3/8| ZERHI| XIxY K~ M20x1,5| ZEXTHH 1724 1964 R422705004
HEE| HEEAN 29 L—)\
>
63 100 G3/8| ZERHI| XTIV KN M20x1,5| ZXETHEH 1724 1964 7472407475
HEE | FEERN 25 L—/\
>
63 150 G3/8| ZEREA| YITxRY K M20x1,5| ZEXTHH 1724 1964 7472408187
HEE | HEEAN 25 L—/\
>
63 200 G3/8| ZERHI| XTIxY K~ M20x1,5| ZEXTZEH 1724 1964 7471318262
HEE| HEEAN 29 L—)\
>
63 300 G3/8| ZERHA| XTIx%xY K~ M20x1,5| ZEXTHH 1724 1964 7472414341
HEE | FEERN 2oL~/
>
63 350 G3/8| ZERHI| XTIXRY K~ M20x1,5| HZEXETHH 1724 1964 7472405557
HEE | HEEAN 25 L—)%
4
63 400 G3/8| Z=EREH| YITXY KN M20x1,5| ZEITER 1724 1964 7472408189
HEE | HEERN 29 L—)\
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA 14
2024-03-26

EAN AkO—7 R—K EANY EANY XTUT7ILES
N, [mm] HAFE  HHEAE
[mm] [N] [N]
63 450 G3/8| ZERHA| YIXRY B M20x1,5| ZEI¥R 1724 1964 7472404354
EEE | FEEAN AO9L—N
>
63 500 G3/8| Z=EREH| YITXY N M20x1,5| ZEET¥MA 1724 1964 R422703385
HERE | [FEEALN AIL—N
>
80 25 G3/8| ZERHI| XTIV KN M20x1,5| ZXTHH 2927 3167 7472408202
BEIRE | EERN ATL—N
>
80 50 G3/8| Z=EREHA| YITxRY K M20x1,5| ZEEIEH 2927 3167 7472408249
HERRE | FEEARLS AOL—N
>
80 75 G3/8| Z=EREHH| YITXY KN M20x1,5| ZEET¥MA 2927 3167 7472015001
HERRE | FEEALS AIL—N
>
80 80 G3/8| Z=EREA| YITXVY KN M20x1,5| ZEXTZEH 2927 3167 7472408200
BERE | fEERN AOL—=N
>
80 100 G3/8| ZERHI| XTIXRY KN M20x1,5| ZEXETHH 2927 3167 7472408362
REREE | EEARR AOL—N
4
80 125 G3/8| Z=EREH| YITXY KN M20x1,5| ZETER 2927 3167 7472415199
BEF| REEAN 29L—N
>
80 150 G3/8| Z=EREH| YITXY KN M20x1,5| ZEET¥MA 2927 3167 7472406097
BEMEE | HEERBN AOL—N
>
80 200 G3/8| ZERHI| XTIV KN M20x1,5| ZEXETHEH 2927 3167 R422709529
BEEE | [EEAR AOL—N
>
80 250 G3/8| Z=ERHA| YIXRY B M20x1,5| ZEI¥R 2927 3167 7471318287
HERRE | FEEALS AO9L—N
>
80 300 G3/8| Z=EREH| YITXY KN M20x1,5| ZEET¥MA 2927 3167 7471314123
BEE| HEERN 2oL
>
80 350 G3/8| ZERHI| XTIV KN M20x1,5| ZXETHEH 2927 3167 7472408196
BEIRE | fEERN ATL—N
>
80 400 G3/8| ZEREA| YITxRY K M20x1,5| ZEEIEH 2927 3167 7471326646
| HEERN 25L—)%
>
80 500 G3/8| Z=EREH| YITXY N M20x1,5| ZET¥MA 2927 3167 7472407113
HERRE | FEEARLS AIL—N
>
100 25 G12| ZERHI| ITx%xY K~ M27x2 | BEIXA 4503 4948 7471316187
BERE | fEERN AOL—=NI
>
100 50 G12| Z=ERHIT| XTIV K~ M27x2 | BETHA 4503 4948 7472408250
REREE | EEARR AOL—N
4
100 75 G1/2| Z=EREHAY| YITXY N M27x2 | EETER 4503 4948 7472016000
BEF| REERN 29L—N
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA 15
2024-03-26

EAN AhO—2 R—K EAKNY EANY XTUTILES
] [mm] A AAE h HAE
[mm] [N] [N]
100 100 G1/2| Z=EREHA| YITxY N M27x2 | EETER 4503 4948 7472408141
EiEE | FEEAN AIL—N
>
100 125 G12| Z=ERHFA| XTZRY L M27x2 | BET#HA 4503 4948 R422701648
BEEE | fEEARN ATL—N
>
100 200 G1/2| Z=EREHAY| YTV N M27x2 | BEIER 4503 4948 7471314208
BEREE | EEAR AUL—N
>
100 350 G1/2| =ERHA| XIZRY L M27x2 | EETER 4503 4948 7472415026
HEREE | HEEARN AIL—N
>
100 450 G1/2| Z=EREHAY| YITXY N M27x2 | BEIT¥A 4503 4948 7472020146
BEiEE | HEEARN AIL—N
>
100 500 G1/2| Z=EREHA| YITxVY N M27x2 | BET#A 4503 4948 R422709968
BEREE | HEEARR ATL—N
>
125 25 G1/2| Z=EREHA| YITxY N M27x2 | EEITER 7286 7731 R422703160
HEEE | NEEARNS AIL—N
>
125 50 G1/2| Z=EREHAY| YTXY N M27x2 | BEIT¥RA 7286 7731 7472408219
BT | EEARN ATL—N
>
125 75 G1/2| Z=EREHA| YITXVY N M27x2 | BETHHA 7286 7731 7472017000
HERRE | FEEARL ATL—N
>
125 100 G1/2| Z=EREHA| YITxVY N M27x2 | EEIER 7286 7731 7471316303
HEEE | NEEARN AUL—N
>
125 125 G1/2| Z=EREHAY| YITxY N M27x2 | BET¥RA 7286 7731 7472408214
HEREE | HEEARN AIL—N
>
125 150 G12| Z=ERHFA| XTZRY L M27x2 | BET#A 7286 7731 R422709768
BEEE | fEEARN ATL—=N
>
125 200 G1/2| Z=EREHA| YTV N M27x2 | BEIT#A 7286 7731 7472408217
BEREE | fEEAR AUL—N
>
125 300 G1/2| =ERHA| XIZRVY L M27x2 | EEITER 7286 7731 7471314424
HEREE | NHEEARN ATL—N
>
125 350 G1/2| Z=EREHAY| YITXY N M27x2 | BET¥RA 7286 7731 7472411257
BEiEE | HEEARN ATL—N
>
125 400 G1/2| Z=EREHA| YITxVY N M27x2 | BEIER 7286 7731 7472408218
BEREE | EEARR ATL—N
>
125 500 G1/2| Z=EREHA| YITxY N M27x2 | BEIT¥A 7286 7731 R422703390
HEEE | ~NEEARN AIL—N
>
160 50 G3/4| Z=EREHHY| YITXY KN M36x2 | EBETHHA 11875 12667 7472408208
HEREE | HEEARN ATL—N
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA 16
2024-03-26

EAN AhO—2 R—K EAKNY EANY XTUTILES
o [mm] A AAE h HAE
[mm] [N] [N]
160 75 G3/4| ZEREHA| YITXRY K M36x2 | EBET¥HA 11875 12667 7472018014
EiEE | FEEAN AIL—N
>
160 100 G3/4| EERHFA| YTRY N M36x2 | BEIEH 11875 12667 7472408363
BEEE | fEEARN ATL—N
>
160 125 G3/4| ZEREHA| YTV N M36x2 | EBEIT#A 11875 12667 7472411000
BEREE | EEAR AUL—N
>
160 150 G3/4| Z=ERHA| XTRY S M36x2 | EEITEHR 11875 12667 7472408207
HEREE | HEEARN AIL—N
>
160 300 G3/4| Z=EREHH| YITXY KN M36x2 | EETXHA 11875 12667 7472408137
BEiEE | HEEARN AIL—N
>
160 400 G3/4| EERHA| XTXRY S M36x2 | EBET#A 11875 12667 7472406567
BEREE | HEEARR ATL—N
>
160 500 G3/4| ZEREHA| YITxXVY N M36x2 | EETER 11875 12667 7472408209
HEEE | NEEARNS AIL—N
>
200 50 G3/4| Z=EREH| YITXY KN M36x2 | EBETHHA 19000 19792 7472408361
BT | EEARN ATL—N
>
200 75 G3/4| EERHA| YTRY S M36x2 | BETHHA 19000 19792 7472019014
HERRE | FEEARL ATL—N
>
200 100 G3/4| ZEREHA| YITXVY N M36x2 | EEIER 19000 19792 7472408364
HEEE | NEEARN AUL—N
>
200 125 G3/4| ZEREHA| YITxRY KN M36x2 | EBET¥HA 19000 19792 7472408203
HEREE | HEEARN AIL—N
>
200 200 G3/4| EERHA| XTRY N M36x2 | BEIEH 19000 19792 R422702875
BEEE | fEEARN ATL—=N
>
200 300 G3/4| ZEREHA| YTV N M36x2 | EBEI#A 19000 19792 7472409554
BEREE | fEEAR AUL—N
>
200 400 G3/4| Z=ERHA| XTRY N M36x2 | EETEHR 19000 19792 7472408205
HEREE | NHEEARN ATL—N
>
200 500 G3/4| E=ERHFA| XTRY S M36x2 | EETXHA 19000 19792 7472408206
BEiEE | HEEARN ATL—N
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA 17

2024-03-26
I3
BB
K BB
& &
&/SW (2Flats) o) _
oy P =
: 8
a WA - S
N ) =
=
E é KW + e _'_] :|_
S
1 PL
Y
ZJ1+S
1) AOY MLAZ Y 1—
S=Ak0O—72
EALY @ AM BB @B e9 @ DD E @ EE K @ KK KV KW
32 20 17 25 M6 45 G1/8 6 M10x1,5 17 5
40 36 17 32 M6 52 G1/4 8 M16x1,5 24 8
50 36 23 32 M8 65 G1/4 8 M16x1,5 24 8
63 46 23 45 M8 75 G3/8 10 M20x1,5 30 10
80 46 28 45 M10 95 G3/8 10 M20x1,5 30 10
100 63 28 55 M10 115 G112 16 M27x2 41 135
125 63 34 55 M12 140 G112 16 M27x2 41 135
160 85 42 65 M16 180 G3/4 16 M36x2 55 18
200 85 42 65 M16 220 G3/4 16 M36x2 55 18
ERANY @ @ MM PL SW TG Vv VD WH % zZ)
32 12 9 8 33 - 15 25 44 105
40 18 12 13 40 3 15 34 65 144
50 18 12 13 49 3 15 34 65 144
63 22 14 17 59 5 20 39 71 164
80 22 14 17 75 9 20 39 71 164
100 30 18 22 90 - 20 47 84 192
125 30 18 22 110 - 20 47 84 192
160 40 35 32 140 - 20* 80 115 260
200 40 35 32 175 - 20* 80 115 260

* 5% IFCNOMO NFE 49-001& V) 5mmiE W

EMERSON.



AVENTICS C12P > —X 24Oy R VA 18
2024-03-26

240OY RS 1) > A — CNOMO NFE 49-001, > 1J—X C12P

CNOMO / NFE 49-001

TA77A40L2 VA= R2/40Y RSV A —
$RERE

EE

NTZY MIZEERKNY

= ERS AR

H#hal

It U

A7) EE

F7° a3 TEMmMG

AIL=/IN ERARY EARNY XTUT7ILES
h AFE A E

N] [N]
32 25 G1/8| Z=EREA| YITXY KN M10x1,5| ZET¥MA 435 435 7472402181
BT | HEERN 29 L=/
>
32 50 G1/8| ZERHIT| XTIV K~ M10x1,5| ZXETHEH 435 435 7472021550
HEE | HEERN 2 L—/
>
32 75 G1/8| Z=ERHA| YTXRY b M10x1,5| ZEXETXH 435 435 7471317888
HEE | HEEAN 2 L—/
>
32 80 G1/8| Z=EREA| YITXY KN M10x1,5| ZET¥A 435 435 7472023405
HEE | HEEAN 25 L—/%
>
32 100 G1/8| ZERHA| IITxXRY K~ M10x1,5| ZEXTZEH 435 435 7471312799
HEE | HEERN 25 L—/%
>
32 125 G1/8| Z=EREHA| YTV N M10x1,5| ZETIEMH 435 435 R422702965
HEE | HEEAR 25 L=/
>
32 200 G1/8| ZEREHHY| YITXY KN M10x1,5| ZETER 435 435 R422710055
HEE | HEEAN 2 L=/
>
32 250 G1/8| Z=EREA| YITXY KN M10x1,5| ZETIF¥H 435 435 R422711629
HEE | HEEAN 25 L—/%
>
32 450 G1/8| ZERHIT| IITXRY K~ M10x1,5| ZEXETHH 435 435 7472020401
HEE | HEEAN 25 L—/
>
40 25 G1/4| ZERHA| XTXRY B M16x1,5| ZETIER 600 600 7472023529
EE | HEEAR 2 L=/
>
40 50 G1/4| Z=EREHA| YTXY KN M16x1,5| ZET¥MA 600 600 7472022041
BT | HEERN 29 L—/%
>
40 75 G1/4| ZERHIT| ITXRY K M16x1,5| ZEXETHEH 600 600 7472022042
HEE | HEERN 25 L=/
>
40 80 G1/4| Z=ERHA| XTXRY M16x1,5| ZEETEH 600 600 7472023994
HEE | HEEAN 2 L—/
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA 19
2024-03-26

EAK AbO—72 R—h EAKN> EARNY XTUT7ILES
> o [mm] HAFE HHEE
[mm] [N] [N]
40 100 G1/4| ZEBHFAT| XTRY b M16x1,5| BETER 600 600 7472022040
EEE | FEEAR AIL=N
>
40 150 G1/4| ZESRHA| YT=RY K M16x1,5| BETEH 600 600 7471317115
BERE | HEEAN A9L—N
>
40 200 G1/4| ZEREHIT| YIZY N M16x1,5| HEIXA 600 600 7472025980
BERE | MEEXN AOL—=N
>
40 300 G1/4| ZERHA| YXT=RY K M16x1,5| HEIXA 600 600 R422703040
BERE | HEEARN A7L—=N
>
40 400 G1/4| ZESRHA| YXT=RY K M16x1,5| BETXH 600 600 7471325091
BEEE | HEEAN A7L—N
>
50 25 G1/4| ZEZRHA| YTRY K M16x1,5| EETXEH 1077 1077 R422703905
BERE | NEEXN AIL—=NI
>
50 50 G1/4| ZERHIT| YIZY N M16x1,5| BEEIXA 1077 1077 7471324420
BEEE | fEEARN A7L—=N
>
50 75 G1/4| ZERHA| YXT=RY K M16x1,5| BEIXH 1077 1077 7471310083
BEEE | HEEAN A7L—N
>
50 100 G1/4| ZESRHA| YT=RY K M16x1,5| HEIHA 1077 1077 7471317521
BERE | NEERDL AOL=NI
>
50 125 G1/4| ZERHIT| YIZY N M16x1,5| HEIXA 1077 1077 R422700407
BEEE | fEEAR A7L—=N
>
50 150 G1/4| ZEBHFT| XTRY b M16x1,5| BETER 1077 1077 7471324774
BEE® | NEEXL AIL=N
>
50 200 G1/4| ZESRHA| YT=RY K M16x1,5| BETEH 1077 1077 7471322385
BERE | HEEAN A9L—N
>
50 250 G1/4| ZEREHIT| YIXY K M16x1,5| HEIXA 1077 1077 7471320419
BERE | NEEXN AOL—=N
>
50 300 G1/4| ZERHA| XT=RY K M16x1,5| HEETIXA 1077 1077 7471321031
BEEE | HEEARN A7L—=N
>
50 350 G1/4| ZESRHE| XT=RY K M16x1,5| BETXH 1077 1077 R422703927
BERE | HEEARN A9L—N
>
50 400 G1/4| ZERHA| YTRY K M16x1,5| HETIH¥A 1077 1077 7471318216
BERE | NEEXL AIL—=NI
>
50 500 G1/4| ZERBHIT| YIZY N M16x1,5| HEEIXA 1077 1077 R422709680
BEEE | fEEAR A7L—=N
>
63 50 G1/4| ZESRHA| YXT=RY K M16x1,5| BEITXH 1724 1724 7471326289
BEEE | HEEARN A7L—N
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA 20
2024-03-26

EAN  ARO—% K-k EARY ERRY  IXFUTLES
> [mm] HABE O HEE
[mm] IN] IN]
63 100 G1/4| ZEREHA| YTxY N M16x1,5| ZEIER 1724 1724 7472023562
LEE | HEEAN 25 L—)\
>
63 125 G1/4| ZERHI| ITxY K~ M16x1,5| ZETI¥HA 1724 1724 7471325319
HEE | HEERN Z5L—N
>
63 150 G1/4| ZERHIT| XTIV K M16x1,5| ZXETHEH 1724 1724 7471321341
HEE | HEERN 25 L—/\
>
63 200 G1/4| Z=EREHA| YITxRY N M16x1,5| ZEXETHEH 1724 1724 7472023563
HEE| HEERN 25 L—/%
>
63 400 G1/4| ZERHI| XTxY K M16x1,5| ZETEMA 1724 1724 R422705208
HEE | HEERN Z5L—N
>
63 450 G1/4| ZERHI| ITXY K~ M16x1,5| ZEXTHEH 1724 1724 7471326742
HEE | HEERN 2oL~/
>
63 500 G1/4| ZERHIT| ITXRY K M16x1,5| ZXETHEH 1724 1724 7471321871
HEE| HEERN 25 L—/\
4
80 50 G3/8| Z=EREH| YITXY KN M20x1,5| ZETER 2927 2927 7472406150
HEE | HEERN ZoL—N
>
80 150 G3/8| ZERHI| XIxY K~ M20x1,5| ZEET¥MA 2927 2927 7471317054
SEEE | REEAN Z5L—IN
>
80 200 G3/8| ZERHI| XTIV KN M20x1,5| ZEXETHEH 2927 2927 7471315154
HEE| HEERN 25 L—/\
>
80 250 G3/8| Z=EREA| YITxRY KN M20x1,5| ZEI¥R 2927 2927 7471314450
HEE| HEERN 25 L—/\
>
80 300 G3/8| ZERHI| XIxY K~ M20x1,5| ZEET¥MA 2927 2927 R422710174
HEE | HEERN Z5L—N
>
80 350 G3/8| ZERHI| XTIV KN M20x1,5| ZXETHEH 2927 2927 7472414071
HEE | FEERN 25 L—/\
>
80 400 G3/8| ZEREA| YITxRY K M20x1,5| ZEXTHH 2927 2927 7471323908
HEE| HEERN 25 L—/\
>
80 500 G3/8| Z=EREH| YITXY N M20x1,5| ZET¥MA 2927 2927 7472024901
HEE | HEERN ZA5L—N
>
100 50 G12| ZERHI| ITx%xY K~ M27x2 | BEIXA 4503 4503 R422708943
HEE | FEERN 2oL~/
>
100 75 G12| Z=ERHIT| XTIV K~ M27x2 | EEIXA 4503 4503 7471324896
HEE| HEERN 25 L—)%
4
100 100 G1/2| Z=EREHAY| YITXY N M27x2 | EETER 4503 4503 7471311782
HEE | HEERN Z5L—N
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA 21
2024-03-26

EA N AhO—% R—K EAKNY EANY XTUTILES
o [mm] A AAE h HAE
[mm] [N] [N]
100 150 G1/2| Z=ERHA| YXTXRY b M27x2 | BEIT¥RA 4503 4503 7471323790
EiEE | FEEAN AIL—N
>
100 200 G1/2| Z=EREHAY| YITXY N M27x2 | BEITEH 4503 4503 7472022039
BEEE | fEEARN ATL—N
>
100 250 G12| Z=ERHA| YTIXRY L M27x2 | BEIT#A 4503 4503 7471326059
BEREE | EEAR ATL—N
>
100 400 G1/2| =ERHA| XIZRY L M27x2 | EETER 4503 4503 7472411264
HERRE | FEEARLS AIL—N
>
125 100 G1/2| Z=EREHAY| YITXY N M27x2 | BEIT¥A 7286 7286 7471326797
BEiEE | HEEARN AIL—N
>
125 150 G12| Z=ERHA| YTIXRY S M27x2 | BET#A 7286 7286 7471326351
BEREE | HEEARR ATL—N
>
125 200 G1/2| Z=EREHA| YITxY N M27x2 | EEITER 7286 7286 7472020130
HERE | FEEARL AIL—N
>
125 250 G1/2| Z=EREHAY| YTXY N M27x2 | BEIT¥RA 7286 7286 R422702924
BT | EEARN ATL—N
>
125 300 G12| Z=ERHA| YTIRY L M27x2 | BEIEA 7286 7286 7471313096
HERRE | FEEARL ATL—N
>
160 50 G3/4| ZEREHA| YITXVY N M36x2 | EEIER 11875 11875 R422715098
HEBE | FEEARL AUL—N
>
160 100 G3/4| ZERHA| YTXRY M36x2 | EETEH 11875 11875 R422715099
HEREE | HEEARN AIL—N
>
200 50 G3/4| EERHA| XTRY N M36x2 | EETHHA 19000 19000 R422715100
BEEE | fEEARN ATL—=N
>
200 100 G3/4| ZERHA| XTXRY S M36x2 | EBEI#A R422715101
BEREE | fEEAR ATL—N
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA 22

2024-03-26
&
BB
K
a
&/SW (2Flats) q)éo a
KV ey = M o
- C v
m '
Q | TS 7 ’’’’’’’’’’’’’’’’’’’
s o< wv ] e
g g Kw H— ik\ **********
9 ® AM VD 1 VD
WH
Y
ZK1+S
ZM1 + 2xS
1) Z0Y NLAZ U 21—
S=Ah0O—72
ERANY @ AM BB @B e9 @ DD E @ EE K @ KK KV KW
32 20 17 25 M6 45 G1/8 6 M10x1,5 17 5
40 36 17 32 M6 52 G1/4 8 M16x1,5 24 8
50 36 23 32 M8 65 G1/4 8 M16x1,5 24 8
63 46 23 45 M8 75 G3/8 10 M20x1,5 30 10
80 46 28 45 M10 95 G3/8 10 M20x1,5 30 10
100 63 28 55 M10 115 G112 16 M27x2 41 135
125 63 34 55 M12 140 G112 16 M27x2 41 13.5
160 85 42 65 M16 180 G3/4 16 M36x2 55 18
200 85 42 65 M16 220 G3/4 16 M36x2 55 18
EALY @ @ MM PL SW TG v VD WH Y ZK1 ZM1
32 12 15 8 33 - 15 25 44 115 140
40 18 31 13 40 3 15 34 65 163 197
50 18 31 13 49 3 15 34 65 163 197
63 22 32 17 59 5 20 39 71 182 221
80 22 32 17 75 9 20 39 71 182 221
100 30 37 22 90 - 20 47 84 211 258
125 30 37 22 110 - 20 47 84 211 258
160 40 55 32 140 - 20* 80 115 260 300
200 40 55 32 175 - 20* 80 115 260 300

* 531 CNOMO NFE 49-001 & V) 5mmiE W\

EMERSON.



AVENTICS C12P > —X 24Oy R VA 23
2024-03-26

240OY RS 1) > A — CNOMO NFE 49-001, > 1J—X C12P

CNOMO / NFE 49-001

TA77A40L2 VA= R2/40Y RSV A —
BEEERY NT STy MEE

gl

NTZY MIZEERKNY

= ERS AR

H#hl

It U

A7) EE

F7° a3 TEMmMG

EAL A~O—2 R—K BE EANY EANY XTUT7ILES
DY) [mm] HAFE  hHEAE
[mm] [N] [N]
25 25 G1/8| Z=ERHA| YTXRY b M10x1,5| ZEIT¥ER 238 309 R422715102
EEE | FEEAN AIL—N
>
25 50 G1/8| Z=EREA| YITXY KN M10x1,5| ZET¥A 238 309 R422715103
REMEE | HEERBN AIL—N
>
32 25 G1/8| ZERHI| XTIV K~ M10x1,5| ZXETHH 435 507 R422715104
BT | HEEAR ATL—NN
>
32 50 G1/8| Z=EREHA| YITXY N M10x1,5| ZEXETH 435 507 R422715105
HERRE | FEEARLS AO9L—N
>
40 25 G1/4| ZEREHAY| YTXY KN M16x1,5| ZET¥A 600 792 R422715106
HERRE | FEEARLS AIL—N
>
40 50 G1/4| Z=EREHA| YTXY KN M16x1,5| ZEXTEH 600 792 R422715107
HEREE | FEEAL AOL—N
>
50 25 G1/4| ZEREHA| YITxY N M16x1,5| ZEEIEH 1077 1237 R422715108
HERRE | FEEARLN AOL—N
>
50 50 G1/4| Z=EREHAY| YTXY N M16x1,5| ZEIEMR 1077 1237 R422715109
BEE| REERN 29L—N
>
63 25 G3/8| Z=EREA| YITXVY KN M20x1,5 | ZEET¥HA 1724 1964 R422715110
BEMRE | EERDN AOL—N
>
63 50 G3/8| ZERHIT| XTIXRY K~ M20x1,5| ZEXETHH 1724 1964 R422715111
BEE| HEEAN 245 L=/
>
80 50 G3/8| Z=ERHA| YIXRY B M20x1,5| ZETI¥R 2927 3167 R422715112
EEE | FEEAN AIL—N
>
80 100 G3/8| Z=EREHA| YITXY KN M20x1,5| ZEETI¥HA 2927 3167 R422715113
BEMEE | HEERBN AIL—N
>

EMERSON.



AVENTICS C12P > —X 24Oy R VA

24
2024-03-26

EAN AkO—7 R—K AOL—=N
D) [mm]
[mm]
100 50 G1/2| EERHA| IT/%xvY b M27x2 | EET %M 4503 4948 R422715114
EEE | EEAN AO9L—N
>
100 100 G1/2| Z=ER/HA| ITxRVY K M27x2 | EET %R 4503 4948 R422715115
HERE | [FEEALN AIL—N
>
125 50 G12| ZER/HT| ITZY K~ M27x2 | fEXET%H 7286 7731 R422715116
MR | HEEARN AoL—N
>
125 100 G12| BERHT| IT%xVY b M27x2 | ERETER 7286 7731 R422715117
HERRE | FEEARLS AOL—N
>
160 50 G3/4| BERHT| YT%RY b M36x2 | EXET %M 11875 12667 R422715118
HERRE | FEEALS AIL—N
>
160 100 G34| EERHT| YTV b M36x2 | IEXET%H 11875 12667 R422715119
BEMEE | HEEAN AOL—N
>
200 50 G3/4| ZER/HT| ITRY K M36x2 | EETEMA 19000 19792 R422715120
REREE | EEARR AOL—N
>
200 100 G3/4| ZER/HA| YTV K M36x2 | EXET M 19000 19792 R422715121
EEE | TEEAL AIL—N
>
&
L
K Q min [s]efe]
o Qmax+$8 ¢<,/<<, Q
SW (2Flats) m
! %) |
e \ B e
pap=—— 2 ,
Ni=c;
SPin=:: il - - _ 5 W L) -
o ) I > >
2| ¥ Kw m— R —H |
s S| am VD ] ol 7]
WH Ted 1 PL R
Y P
ZJ1+S
ZJ2°+5S
1) AOY RLARSY 21—
S=AKO—%
ERANY @ AM ZBe9 2 CG CH cL E @ EE K @ KK KV
25 20 25 12 42 22 40 G1/8 6 M10x1,5 17
32 20 25 12 50 15 45 G1/8 6 M10x1,5 17
40 36 32 16 63 20 52 G1/4 8 M16x1,5 24
50 36 32 16 73 20 65 G1/4 8 M16x1,5 24
63 46 45 20 90 25 75 G3/8 10 M20x1,5 30
80 46 45 20 108 25 95 G3/8 10 M20x1,5 30
100 63 55 25 131 30 115 G112 16 M27x2 41

4

o

EMERSON.



AVENTICS C12P > —X 24Oy R VA

25
2024-03-26

EARY @ AM @ Be9 @ CG CH CL E @ EE K @ KK KV
125 63 55 25 160 32 140 G1/2 16 M27x2 41
160 85 65 32 200 50 180 G3/4 16 M36x2 55
200 85 65 32 250 50 220 G3/4 16 M36x2 55

EARY @ KW @ MM P PL Q &/ QEKA+S R S Sw TG
25 5 12 38 9 40 50 20 12 8 28
32 5 12 46 9 43 48 20 12 8 33
40 8 18 59 12 54 75 25 16 13 40
50 8 18 69 12 62 67 25 16 13 49
63 10 22 84 14 64 79 30 20 17 59
80 10 22 102 14 67 77 30 20 17 75
100 13.5 30 125 18 73 91 36 25 22 90
125 13.5 30 155 18 75 89 36 25 22 110
160 18 40 - 35 81 100 45 32 32 140
200 18 40 - 35 79 101 45 32 32 175
32 - 15 25 44 105 128
40 3 15 34 65 144 165
50 3 15 34 65 144 167
63 5 20 39 71 164 189
80 9 20 39 71 164 188
100 - 20 47 84 192 221
125 - 20 47 84 192 237
160 - 20* 80 115 260 272
200 - 20* 80 115 260 277

* < 3% I CNOMO NFE 49-001& +) 5mmig L)
Q

EMERSON.



AVENTICSC12P > —X 24 0OY R YA

26
2024-03-26

27> Y N 2)—XAB7

CNOMO / NFE 49-001

KEEY) B2 -0(ER) RTUTINES
[mm]
25,32 10 CNOMO / NFE 49-001 FLSZO4 R422003602
40, 50 10 CNOMO / NFE 49-001 VA=A R422003603
63, 80 10 CNOMO / NFE 49-001 TILZZOA R422003604
100, 125 10 CNOMO / NFE 49-001 VAT R422003605
160, 200 10 CNOMO / NFE 49-001 FLI=DA R422003606
NE
BQ
‘ L O
S| o—
YT 7]
| :
| s
IR} -+ [ [l 11
| |
s | BG
N H
0

25,32 R422003602 20 20 8 37 18 8 32 25 41
40, 50 R422003603 32 32 12 54 25 10 45 32 52
63, 80 R422003604 50 50 16 75 32 13 63 40 63
100, 125 R422003605 70 70 20 103 40 17 90 50 80
160, 200 R422003606 110 110 25 154 50 20 140 63 111
EANY @ QH13 R&A S
25, 32 7 19.5 9
40, 50 9 26 14

Q

&

EMERSON.



AVENTICS C12P > —X 24Oy R VA

27
2024-03-26

EANY @

QH13

R&X S

63, 80 1" 32 14
100, 125 14 42 22
160, 200 18 54 26

EMERSON.



AVENTICS C12P > —X 24Oy R VA 28
2024-03-26

Oy R LEAEMT T MP2, 1) —X CM1

CNOMO / NFE 49-001

REE ) BE-0(EE) XTUTPILES
[mm]

25 8 CNOMO / NFE 49-001 TILZZIA 1827005910

32 8 CNOMO / NFE 49-001 TILZZOA 1827005911

40 12 CNOMO / NFE 49-001 FILEIZVLA 1827005912

50 12 CNOMO / NFE 49-001 TILZZIA 1827005913

63 16 CNOMO / NFE 49-001 TILZZIA 1827005914

80 16 CNOMO / NFE 49-001 FILZIZVLA 1827005915

100 20 CNOMO / NFE 49-001 TILEZZOA 1827005916

125 20 CNOMO / NFE 49-001 TILZZIA 1827005917

160 25 CNOMO / NFE 49-001 FILEZUA 7472771428

200 25 CNOMO / NFE 49-001 TILEZZOA 7472771429

L
e

ERANY @ 73);?% CM H14 D H13 G H9 M L R s TG z
25 1827005910 26 7 8 8 40 8 25 28 18
32 1827005911 26 7 8 8 45 8 25 33 18
40 1827005912 33 7 12 8 52 12 32 40 24
50 1827005913 33 9 12 10 65 12 32 49 26
63 1827005914 a7 9 16 10 75 16 45 59 30
80 1827005915 47 11 16 12 95 16 45 75 32

4

o

EMERSON.



AVENTICSC12P > —X 24 0OY R YA

29
2024-03-26

EANY @ 77)?%)%. CM H14 D H13 G H9 M L R S TG z
100 1827005916 57 1" 20 12 115 20 55 90 37
125 1827005917 57 14 20 16 140 21 55 110 41
160 7472771428 72 18 25 20 180 25 65 140 55
200 7472771429 72 18 25 20 220 25 65 175 55

EMERSON.



AVENTICS C12P > —X 24Oy R VA 30
2024-03-26

Oy R LEAEMT T MP2, 1) —X CM1

CNOMO / NFE 49-001

%

REB Y 32 -0(EE) RTUTINES
[mm]
25 8 CNOMO / NFE 49-001 FILZZOLA R415024526
32 8 CNOMO / NFE 49-001 TFIZZOA R415024527
40 12 CNOMO / NFE 49-001 FTILZZT LA R415024528
50 12 CNOMO / NFE 49-001 TFILZZOLA R415024529
63 16 CNOMO / NFE 49-001 FILZZOA R415024530
80 16 CNOMO / NFE 49-001 FILZZT A R415024531
100 20 CNOMO / NFE 49-001 FTILZZT LA R415024532
125 20 CNOMO / NFE 49-001 FILZZOA R415024533
160 25 CNOMO / NFE 49-001 TFINZZOA R415024534
200 25 CNOMO / NFE 49-001 FILZZT LA R415024535

EMERSON.



AVENTICS C12P > —X 24Oy R VA 31

2024-03-26
RP:
|
\
)
- = 7))
Y
Y
Y

i

Y
@ [mm] BT BU CG CH CM H14 D H13 G L M
25 R415024526 41 47 7.6 1.1 26 7 8 40 8
32 R415024527 46 53 7.6 1.1 26 7 8 45 8
40 R415024528 53 60 11.5 1.1 33 7 12 52 8
50 R415024529 66 73 11.5 1.1 33 9 12 65 10
63 R415024530 76 83 15.2 1.1 47 9 16 75 10
80 R415024531 96 103 15.2 1.1 47 1" 16 95 12
100 R415024532 17 124 19 1.3 57 11 20 115 12
125 R415024533 142 149 19 1.3 57 14 20 140 16
160 R415024534 182 189 23.9 1.3 72 18 25 180 20
200 R415024535 222 229 23.9 1.3 72 18 25 220 20

4

od

EMERSON.



AVENTICS C12P > —X 24Oy R VA

32
2024-03-26

& [mm] R S TG 4
25 8 25 28 18
32 8 25 33 18
40 12 32 40 24
50 12 32 49 26
63 16 45 59 30
80 16 45 75 32
100 20 55 90 37
125 21 55 110 41
160 25 65 140 55

200 25 65 175 55

EMERSON.



AVENTICS C12P > —X 24Oy R VA 33
2024-03-26

Oy R LEAEMT T MP2, 1) —X CM1

CNOMO / NFE 49-001

REB Y 32 -0(EE) RTUTINES
[mm]
25 8 CNOMO / NFE 49-001 FILZZOLA R415024536
32 8 CNOMO / NFE 49-001 TFIZZOA R415024537
40 12 CNOMO / NFE 49-001 FTILZZT LA R415024538
50 12 CNOMO / NFE 49-001 TFILZZOLA R415024539
63 16 CNOMO / NFE 49-001 FILZZOA R415024540
80 16 CNOMO / NFE 49-001 FILZZT A R415024541
100 20 CNOMO / NFE 49-001 FTILZZT LA R415024542
125 20 CNOMO / NFE 49-001 FILZZOA R415024543
160 25 CNOMO / NFE 49-001 TFINZZOA R415024544
200 25 CNOMO / NFE 49-001 FILZZT LA R415024545

EMERSON.



34

2024-03-26

AVENTICSC12P 2 )—X 24 0Y R UUHA

&
EMERSON.




AVENTICS C12P > —X 24Oy R VA 35
2024-03-26
@ [mm] A B BT (=]V] C CG CH CM H14 D H13

25 R415024536 40 25 41 47 28 7.6 1.1 26 7
32 R415024537 40 25 46 53 28 7.6 1.1 26 7
40 R415024538 52 32 53 60 38 1.5 1.1 33 7
50 R415024539 52 32 66 73 38 11.5 1.1 33 9
63 R415024540 75 46 76 83 54 15.2 1.1 47 9
80 R415024541 75 46 96 103 54 15.2 1.1 47 11
100 R415024542 115 56 117 124 90 19 1.3 57 1"
125 R415024543 115 56 142 149 90 19 1.3 57 14
160 R415024544 180 71 182 189 150 23.9 1.3 72 18
200 R415024545 180 7 222 229 150 23.9 1.3 72 18

25 8 7 8 18 16 26 - 40 28
32 8 7 8 18 16 26 - 45 8 33
40 10 9 12 26 24 38 16 52 12 40
50 10 9 12 26 24 38 16 65 12 49
63 12 11 16 34 36 52 25 75 16 59
80 12 11 16 34 36 52 25 95 16 75
100 16 14 20 41 40 61 32 115 20 90
125 16 14 20 41 40 61 32 140 21 110
160 20 18 25 55 50 80 43 180 25 140
200 20 18 25 55 50 80 43 220 25 175
25 18
32 18
40 24
50 26
63 30
80 32
100 37
125 41
160 55
200 55
4

EMERSON.



AVENTICS C12P > —X 24Oy R VA 36
2024-03-26

Oy R LEAEMT T MP2, 1) —X CM1

CNOMO / NFE 49-001

%

REB Y 32 -0(EE) RTUTINES
[mm]
25 8 CNOMO / NFE 49-001 FILZZOLA R415024546
32 8 CNOMO / NFE 49-001 TFIZZOA R415024547
40 12 CNOMO / NFE 49-001 FTILZZT LA R415024548
50 12 CNOMO / NFE 49-001 TFILZZOLA R415024549
63 16 CNOMO / NFE 49-001 FILZZOA R415024550
80 16 CNOMO / NFE 49-001 FILZZT A R415024551
100 20 CNOMO / NFE 49-001 FTILZZT LA R415024552
125 20 CNOMO / NFE 49-001 FILZZOA R415024553
160 25 CNOMO / NFE 49-001 TFINZZOA R415024554
200 25 CNOMO / NFE 49-001 FILZZT LA R415024555

EMERSON.



37

2024-03-26

&
EMERSON

P

BG

AVENTICSC12P 2 )—X 24 0Y R UUHA

A

A

Y

BU

BT

BQ




AVENTICS C12P > —X 24Oy R VA

38
2024-03-26

@ [mm] A B BG BQ BT BU © CG CH
25 R415024546 32 20 20 41 47 76 1.1
32 R415024547 9 32 20 20 46 53 8 7.6 1.1
40 R415024548 14 45 32 32 53 60 10 11.5 1.1
50 R415024549 14 45 32 32 66 73 10 1.5 1.1
63 R415024550 14 63 50 50 76 83 13 15.2 1.1
80 R415024551 14 63 50 50 96 103 13 15.2 1.1
100 R415024552 22 90 70 70 17 124 17 19 1.3
125 R415024553 22 90 70 70 142 149 17 19 13
160 R415024554 26 140 110 110 182 189 20 23.9 1.3
200 R415024555 26 140 110 110 222 229 20 23.9 1.3

@ [mm] CM H14 D H13 G H L M \ o] Q R
25 26 7 8 37 40 8 25 41 7
32 26 7 8 37 45 8 25 41 7 8
40 33 7 12 54 52 8 32 52 9 12
50 33 9 12 54 65 10 32 52 9 12
63 47 9 16 75 75 10 40 63 1 16
80 47 1 16 75 95 12 40 63 1 16
100 57 1 20 103 115 12 50 80 14 20
125 57 14 20 103 140 16 50 80 14 21
160 72 18 25 154 180 20 63 111 18 25
200 72 18 25 154 220 20 63 111 18 25

@ [mm] S TG z
25 25 28 18
32 25 33 18
40 32 40 24
50 32 49 26
63 45 59 30
80 45 75 32
100 55 90 37
125 55 110 41
160 65 140 55
200 65 175 55

EMERSON.



AVENTICSC12P > —X 24 0OY R YA

39

2024-03-26

7L EAEE G

CNOMO / NFE 49-001

REB Y 32 -0(EE)

[mm]

XTUTILES

25,32 8 CNOMO / NFE 49-001 FILZZOLA R422003607
40, 50 12 CNOMO / NFE 49-001 TFIZZOA R422003608
63, 80 16 CNOMO / NFE 49-001 FTILZZT LA R422003609
100, 125 20 CNOMO / NFE 49-001 TFILZZOLA R422003610
160, 200 25 CNOMO / NFE 49-001 FILZZOA R422003611

25,32 R422003607 40 25 28 - 8 8 7 18 16
40, 50 R422003608 52 32 38 16 10 12 9 26 24
63, 80 R422003609 75 46 54 25 12 16 1" 34 36
100,125 R422003610 115 56 90 32 16 20 14 41 40
160, 200 R422003611 180 71 150 43 20 25 18 55 50

ERARY @ YEN

25, 32 26
40, 50 38
63, 80 52
100,125 61

EMERSON.




AVENTICS C12P > —X 24Oy R VA 40
2024-03-26

160, 200 80
1) &K

EMERSON.



AVENTICS C12P > —X 24Oy R VA 41
2024-03-26

RILKDERZARRT U

CNOMO / NFE 49-001

EANOEE b:7%i-414 XTUTILES
[mm]
32 CNOMO / NFE 49-001 FILZZOLA 5210163472
40 CNOMO / NFE 49-001 TFIZZOA 5210263472
50 CNOMO / NFE 49-001 FILZZT LA 5210363472
63 CNOMO / NFE 49-001 FILZIZOLA 5210463472
80 CNOMO / NFE 49-001 FIZZOA 5210563472
100 CNOMO / NFE 49-001 FILZZT LA 5210663472
125 CNOMO / NFE 49-001 TFILZZT LA 5210763472
SE ATVE—ARTIVYT
B H
D E

o

—

D

Ay A
M
EANY @ A B C D E F H9 G H L1) M 1)
32 40 25 28 - 8 8 7 18 16 26
40 52 32 38 16 10 12 9 26 24 38
50 52 32 38 16 10 12 9 26 24 38
63 75 46 54 25 12 16 1" 34 36 52
80 75 46 54 25 12 16 11 34 36 52
100 115 56 90 32 16 20 14 41 40 61
125 115 56 90 32 16 20 14 41 40 61

4

o

EMERSON.



AVENTICS C12P > —X 24Oy R VA

42
2024-03-26

EANY @ BT BU CG CH Gf7
32 46 53 7.6 1.1 8
40 53 60 1.5 1.1 12
50 66 73 11.5 1.1 12
63 76 83 15.2 1.1 16
80 96 103 15.2 1.1 16
100 117 124 19 1.3 20
125 142 149 19 1.3 20

1) &K

EMERSON.



AVENTICSC12P > —X 24 0OY R YA

43
2024-03-26

B, > 1)—X CM1

EREIR Y 32 -0(E &)

[mm]
25 10 TILIZOLA 3671202000
32 12 TILZZOA 3671203000
40, 50 16 TFILZZOA 3671204000
63, 80 20 TILIZOLA 3671206000
100, 125 25 TILZIZOLAL 3671210000
160, 200 32 TILZZOLA 3671216000
*
6 CR
Choitd
| .
E R o 1L
|
= " . 4%
™ il [ i P
L 1 ~_ ! N
TH NH
uL
*OLERBED ) A —MPeDRAEEBEIE: + 45°
EANY @ 771').:. @ CR H8 EA FA FK £0,1 FN HB NH TH UL
TINES
25 3671202000 10 16 10 21 29 5.5 10 27 37
32 3671203000 12 19 11 22 32 6.6 11 44 55
40, 50 3671204000 16 28 16 35 49 9 16 65 82
63, 80 3671206000 20 38 19 40 59 9 19 80 99
100, 125 3671210000 25 46 22 48 71 11 22 96 118
100 3671212000 30 56 28 57 88 13 28 114 142
160, 200 3671216000 32 66 32 70 103 17 32 140 172
250, 320 3671220000 35 66 32 70 103 17 32 140 172

\

&

EMERSON.



AVENTICSC12P > —X 24 0OY R YA 44
2024-03-26

BT AT4, >1)—X CM1
IS0 15552

REB Y 32 -0(EE)

[mm]
20, 25, 32 12 ISO 15552 AF—)L, FOLXY F 1827001603
40, 50 16 ISO 15552 AF—)L, FOLXY F 1827001604
63, 80 20 1SO 15552 AF=I), VO0LXY* 1827001605
100, 125 25 ISO 15552 ZF—I, FOLXY*F 1827001606
160, 200 32 ISO 15552 AF—)L, FOLXY F 1827001607
A-A
; K
i
x
g Jr—1 8
N
LLE
Y F
| J |
\ I f |
T L7
| | (6]
r N N w
e T 1
EANY @ 771').:. UL NH TH C CR H9 HB H13 FN FK
TILES
20, 25, 32 1827001603 46 18 32 10,2 10.5 12 6.6 30 15 +0,1
40, 50 1827001604 55 21 36 +0,2 12 16 9 36 18 £0,1
63, 80 1827001605 65 23 42 10,2 13 20 11 40 20 +0,1
100, 125 1827001606 75 28.5 50 £0,2 16 25 14 50 25 10,1
160, 200 1827001607 92 40 60 +0,3 225 32 18 60 30 +0,2
250 1827001608 140 50 90 +0,3 27.5 40 22 70 35 0,2
320 R412018903 150 60 100 325 50 26 80 40

Q

&

EMERSON.



AVENTICS C12P > —X 24Oy R VA 45
2024-03-26

RNIL K, AA4

CNOMO / NFE 49-001

EANOER b5 Y214 ME XTUTILES
[mm]
25 CNOMO / NFE 49-001 AF—=), v04LXYF Fhoho & R422003612
32 CNOMO / NFE 49-001 AF—=), 70LXYF FhHoE R422003613
40 CNOMO / NFE 49-001 AF=)L, o0LXYF FEhH & R422003614
50 CNOMO / NFE 49-001 AF—=I), 0L XY F Fhoho & R422003615
63 CNOMO / NFE 49-001 AF—=), v04LXYF FhoHo&E R422003616
80 CNOMO / NFE 49-001 AF=)L, o0LXYF FEhH & R422003617
100 CNOMO / NFE 49-001 AF=), v0LXYF FEhoh o &E R422003618
125 CNOMO / NFE 49-001 AF—=), 704LXYF FthoHo & R422003619
160 CNOMO / NFE 49-001 AF=)L, o0LXYF HFéHoE R422003620
200 CNOMO / NFE 49-001 AF=I), o0LXYF FRHo&E R422003621
BU
1 i I
A —— IFfQ
Y g
CH
BT
EANY @ 73)17’_-%)% BT BU CG CH Gf7
25 R422003612 41 47 7.6 1.1 8
32 R422003613 46 53 7.6 1.1 8
40 R422003614 53 60 11.5 1.1 12
50 R422003615 66 73 11.5 1.1 12
63 R422003616 76 83 15.2 1.1 16
80 R422003617 96 103 15.2 1.1 16
100 R422003618 117 124 19 1.3 20
125 R422003619 142 149 19 1.3 20
160 R422003620 182 189 23.9 1.3 25
200 R422003621 222 229 23.9 1.3 25

EMERSON.




AVENTICS C12P > —X 24Oy R VA

46
2024-03-26

72 IBMSE, 2 —X MF1, MF2

CNOMO / NFE 49-001

EANOER

REIR V) 312 -0(E &)

XTUTILES

[mm] [mm]
25 AF=I, JOLXYF 1827005926
32 30 AF=I), JOLXYF 1827005927
40 30 AF=I), 70LXY F 1827005928
50 30 AF=I, FJO0LXYF 1827005929
63 30 AF—=I, FJOLXY F 1827005930
80 30 AF=I), 70LXYF 1827005931
100 30 AF=I, FO0LXYF 1827005932
125 30 AF—=I, FO0LXY F 1827005933
160 30 AF=I), 70LXYF 7472271408
200 30 AF—=I, VO0LXYF 7472771409
&
B AR
AQ AS
i
—fo—1-0
s o
SN SR % i T
O <8
| |
< R
| | ] fane
- ——— %o —
R <
L] =
i ‘ .

EMERSON.



AVENTICS C12P > —X 24Oy R VA 47
2024-03-26

EANY @ 77)3_%)% AO H11 AP H13 AQ JS14 AT JS14
25 1827005926 25 9 28 40 8 68 80 7 28
32 1827005927 25 9 33 45 8 68 80 7 33
40 1827005928 32 9 40 52 8 78 90 7 40
50 1827005929 32 1" 49 65 10 94 110 9 49
63 1827005930 45 11 59 75 10 104 120 9 59
80 1827005931 45 14 75 95 12 130 150 11 75
100 1827005932 55 14 90 115 12 150 170 1" 90
125 1827005933 55 18 110 140 16 180 205 14 110
160 7472771408 65 22 140 180 20 228 260 18 140
200 7472771409 65 22 175 220 20 268 300 18 175

EMERSON.



AVENTICS C12P > —X 24Oy R VA 48
2024-03-26

7Y NEUS W, 21— MS1

CNOMO / NFE 49-001

EARNOER BRIRL NTUTILES
[mm]
25 CNOMO / NFE 49-001 TINZZ I L 1827005870
32 CNOMO / NFE 49-001 FTILZZI LA 1827005871
40 CNOMO / NFE 49-001 TILIZOLA 1827005872
50 CNOMO / NFE 49-001 TINZZ I LA 1827005873
63 CNOMO / NFE 49-001 FILZZ I LA 1827005874
80 CNOMO / NFE 49-001 TILIZOLAL 1827005875
100 CNOMO / NFE 49-001 TFILIZOLA 1827005876
125 CNOMO / NFE 49-001 FIZZ I L 1827005877
160 CNOMO / NFE 49-001 TILZIZOLAL 7472771483
200 CNOMO / NFE 49-001 TILIZOA 74727271484
_ E
G B
, o
O @ B
\ \
e )1
I’J‘_\ e il é_ s r-
e | — —
m C O
B vA - . U
- Y -

25 1827005870 8 58 7 40 30 50 9 25 28
32 1827005871 8 65 7 45 32 54 9 25 33
40 1827005872 8 72 7 52 36 62 9 32 40
50 1827005873 10 90 9 65 45 77 11 32 49

Q

&

EMERSON.



AVENTICSC12P > —X 24 0OY R YA

49
2024-03-26

63 1827005874 10 100 9 75 50 87 1" 45 59
80 1827005875 12 126 1" 95 63 110 14 45 75
100 1827005876 12 148 11 115 73 130 14 55 90
125 1827005877 16 180 14 140 91 161 18 55 110
160 7472771483 20 230 18 180 115 205 22 65 140
200 7472771484 20 270 18 220 135 245 22 65 175
EANY @ U Y z

25 18 35 75

32 18 35 82

40 18 35 90

50 22 45 110

63 22 45 120

80 28 55 154

100 28 55 180

125 32 67.5 215

160 40 80 275
200 40 80 318

EMERSON.



AVENTICSC12P > —X 24 0OY R YA

50

2024-03-26

7Y NEUS W, 21— MS1

CNOMO / NFE 49-001

25

1827005878

24

40

30

50

25

EANOEE b:7%i-414 XTUTILES
[mm]
25 CNOMO / NFE 49-001 FILZZOLA 1827005878
32 CNOMO / NFE 49-001 TFIZZOA 1827005879
40 CNOMO / NFE 49-001 FILZZT LA 1827005880
50 CNOMO / NFE 49-001 FILZIZOLA 1827005881
63 CNOMO / NFE 49-001 FIZZOA 1827005882
80 CNOMO / NFE 49-001 FILZZT LA 1827005883
100 CNOMO / NFE 49-001 TFILZZT LA 1827005884
125 CNOMO / NFE 49-001 FILZZOA 1827005885
160 CNOMO / NFE 49-001 TFIZZOA 7472771418
200 CNOMO / NFE 49-001 FILZZT LA 74727721419
E

28

32

1827005879

28

45

32

54

25

33

40

1827005880

36

52

36

62

32

40

&

EMERSON.



AVENTICSC12P > —X 24 0OY R YA

51
2024-03-26

50 1827005881 10 45 9 65 45 77 1" 32 49
63 1827005882 10 55 9 75 50 87 1" 45 59
80 1827005883 12 70 11 95 63 110 14 45 75
100 1827005884 12 90 1" 115 73 130 14 55 90
125 1827005885 16 110 14 140 91 161 18 55 110
160 7472771418 20 130 18 180 115 205 22 65 140
200 7472771419 20 170 18 220 135 245 22 65 175
EANY @ u Y
25 27 35
32 27 35
40 27 35
50 35 45
63 35 45
80 43 55
100 43 55
125 52 68
160 62 82
200 62 92

EMERSON.



AVENTICSC12P > —X 24 0OY R YA 52
2024-03-26

Oy RVLEAIVR, ZU—X AP2

BLEEAR>OY RAU NTUTILES
M10x1,5 AF—=I), VO0LXYF 1827009940
M16x1,5 AF—I, VOLXYF 1827009941
M20x1,5 AF—I, VOLXY * 1827009942
M27x2 AF—=I), VO0LXY* 1827009943
M36x2 AF=I), 70LXYF 7472771444
CK
I
/; i b =7 a7 | —] "
-
ED § TR E i [ S [
©) e |
7 (I 771 | —
N/ /22— )
' X
LE X
ER CE _
1
|
[ -
-
O w T - - -~ T — T
1 _—
|
|
1
|
KK X BL CE JCK el1 CL CM ER LE
TINES
M10x1,5 1827009940 28 36 8 22 11 9 16
M16x1,5 1827009941 44 51 12 26 18 13 25
M20x1,5 1827009942 53 63 16 34 22 17 33
M27x2 1827009943 76 85 20 44 30 20 30

EMERSON.



AVENTICSC12P > —X 24 0OY R YA 53
2024-03-26

N7V
TILES

M36x2 7472771444 93 115 25 56 40 25 40

KK BL CE @CKel1 CL CM ER LE

EMERSON.



AVENTICSC12P > —X 24 0OY R YA 54
2024-03-26

OYy ROLERAIY KRAP6, Z1)—X CM2

BLEEAR>OY R LU REIR V) 812 -0(E &) XTUTILES
[mm]
M16x1,5 PRA, TRB, CCl, SSI, RPC, 16 AF=I), JOLXYF 1822124005
KPZ, 167, CVI, RDC, 102
M20x1,5 PRA, TRB, KPZ, 167, CVI, 20 AF=I), JOLXYF 1822124006
102
M27x2 PRA, TRB, 167, CVI 30 AF=I, FOLXY F 1822124013
M36x2 ITS 35 AF=I, JOLXYF 1822124008
GCE

’/ A \\
- - y 'L \ JE==§== <
e e T e, =
- - 4( \ ! ‘::: = x
\\ /l
LF
AV

EMERSON.



AVENTICS C12P > —X 24Oy R VA

55
2024-03-26

KK 77)?%)% AA AV min. CE @ CN H7 EN-0,1 ER EU max. LF SW
M4 1822124000 12 8 27 5 8 9 7.5 9 9
M6 1822124001 13 9 30 6 9 10 7.5 10 11
M8 1822124002 16 12 36 8 12 12 9.5 12 14
M10 8958206402 19 20 43 10 14 14 10.5 13 17
M12 8958208852 22 22 50 12 16 16 12 16 19
M10x1,25 | 1822124003 19 15 43 10 14 14 11.5 14 17
M12x1,25 1822124004 22 18 50 12 16 16 12.5 16 19
M16x1,5 1822124005 27 24 64 16 21 21 155 21 22
M20x1,5 1822124006 34 30 77 20 25 25 18.5 25 30
M24x2 8958208002 42 36 94 25 31 30 23 30 36
M27x2 1822124013 50 45 110 30 37 35 27 35 41
M36x2 1822124008 60 56 125 35 43 40 32 40 50
M42x2 1822124009 69 60 142 40 49 455 37 45 55
M48x2 8958208842 75 65 160 50 60 58 45 60 65
KK Z [°] max.
M4 4
M6 4
M8 4
M10 6
M12 13
M10x1,25 4
M12x1,25 4
M16x1,5 4
M20x1,5 4
M24x2 15
M27x2 4
M36x2 4
M42x2 4
M48x2 6

EMERSON.



AVENTICSC12P > —X 24 0OY R YA 56
2024-03-26

EANOY RIVRTL—b

BLEEANOY RfaU NTUTILES
M10x1,5 AF—=I), VO0LXYF 7472275700
M10x1,5 AF=), V0LXY F 747272721445
M16x1,5 AF—=), 704LXYF 747272721446
M20x1,5 AF=I), v0LXYF 747272721447
M27x2 AF—I, VOLXYF 747272721448
M36x2 AF—=I), 20LXYF 747272721449
ER ER CB
x| © |
NN}
_ Lo S |
© |
| i [ ‘,-/_ |_ :wl
| ! | 1
< ‘____T‘ i IT*‘I*’H
) :w ! N | :I
! ‘ :‘ /(:‘ I |:
|: | ! < l: | I
I‘ I: : 1 [N
] ‘ " KK PR
\ glim R o A il ol
I I
X7
KK FLES %) A CA cB cD ER G
M10x1,5 | 7472221445 2532 20 36 11 8 9 3
M16x1,5 | 7472ZZ1446 4050 30 51 18 12 13 7
M20x1,5 | 7472221447 63 80 36 63 22 16 17 10
M27x2 7472771448 100 125 50 85 30 20 20 13
M36x2 7472771449 160 200 70 115 40 25 25 15

EMERSON.



AVENTICSC12P > —X 24 0OY R YA

57
2024-03-26

EANEHEAFY b MR9

ALY R4 X

XTUTILES

M16x1,5 AF=I, FOLXY F 1823300030
M20x1,5 AF=I, JOLXYF 8103040344
M27x2 AF=I, FOLXY F 1823A00029
M36x2 AF=I, FJO0LXY F 8103190414

Sube

< KV - - KW
=1
KK ;3Z§L% KV KW
M4 1823300033 10 3.2
M6 1823300034 13 4
M8 1823A00021 19 6
M10 8103190344 19 6
M10x1,25 | 1823300030 24 8
M20x1,5 | 1823300031 30 10
M27x2 | 1823A00029 41 135
M36x2 | 8103190414 50 16
Md2x2 | 8103190424 60 21
M6 8103190644 10 3.2
M8 8103190164 13 4
M10x1,25 | 8103190464 17 5

KK

EMERSON.



AVENTICS C12P > —X 24Oy R VA

58
2024-03-26

KK 77)?;% KV KW
M4 3330310000 7 22
M12x1,25 3590304000 19 6
M16x1,5 3590305000 24 8
M20x1,5 3590308000 30 10
M20x1,5 8103040344 30 10
M24x2 8103190394 36 12
M48x2 8103190434 65 25
M10x1,25 2990600303 17 5
M12x1,25 2990600304 19 6
M16x1,5 2990600305 24 8
M20x1,5 2990600308 30 10
M27x2 2990600312 41 13.5
M36x2 2990600316 50 16
M42x2 2990600325 60 21

EMERSON.



AVENTICS C12P > —X 24Oy R VA 59
2024-03-26

o — 2 1)—XST6

PRA

PRE

CcCl

KPZ

SSi

GPC

CVI
T—FINIVRAY=THL, ERAYF
CE-BAMENET

cULus

RoHS

UL (Underwriters Laboratories)

\

[0- BK L o
U—  OdAv&Y -7 HRER YRER FHEE FHEE EDHEE FHEE Ll T—7 ITUTILES
ADE K247 JLA/N— DC. &K AC, %K DC, /> DC, &K AC. &/ AC, BXK ILERE L
U [A] [A] [V DC] [V DC] [V AC] [V AC] [m]
PRA, J—R| RUIL 0.13 0.13 10 230 10 230 | BHERE 3 R412022866
PRE, 2 Brik
ccl,
KPZ, SSl,
GPC, CVI
PRA, J—R| RUDTL 0.13 0.13 10 230 10 230 | BHERE 5 R412027170
PRE, 2 Brik
CcCl,
KPZ, SSl,
GPC, CVI
PRA, J—R| RUIL 0.3 0.5 10 30 10 30| BHERER 3 R412022869
PRE, 2 Brik
ccl,
KPZ, SSI,
GPC, CVI
PRA, J—R| RUIL 0.3 0.5 10 30 10 30| mMRE 5 R412022870
PRE, 2 By L
ccl,
KPZ, SSI,
GPC, CVI
PRA, J—R| RUDTL 0.3 0.5 10 30 10 30| mHERE 10 R412022871
PRE, 2 Brik
CcCl,
KPZ, SSI,
GPC, CVI
PRA, BEFH| RUIL 0.13 10 30 A&, 3 R412022853
PRE, PNP > B R i
Ccl, Brik
KPZ, SSI,
GPC, CcVI
PRA, BFH| KUIL 0.13 10 30 AR, 5 R412022855
PRE, PNP 2 Bt R
ccl, B ik
KPZ, SSI,
GPC, CVI
PRA, BFH| RUIL 0.13 10 30 M AR, 10 R412022857
PRE, PNP 2 ot &
ccl, Brik
KPZ, SSl,
GPC, CVI

EMERSON.



AVENTICSC12P > —X 24 0OY R YA 60
2024-03-26

U= dvxy g—7 HRER RER CBHEE FDEE FHEE FHEE 0 BERX g—=7

AOE ~R47 JLH/N— DC. Bk AC. @A DC. &/ DC. Bk AC. &/ AC. &K LEEL
B Al (Al [VDC] [VDC] [VAC] [VAC] [m]
PRA, NPN| RUSL 0.13 10 30 i, 3 R412022849
PRE, Rz B R i
cal, B 1E
KPZ, SSI,
GPC, CVI
PRA, NPN| RUSL 0.13 10 30 iR, 5 R412022850
PRE, 2 Bt R e
cal, B iE
KPZ, SSI,
GPC, CVI
Ii&
57 . 295 oo L _
4
: F 1= o 2.7
7 T — | BN
3'2—‘ I — = s ———] BU
BK
X 23 x 0,14 mm?2

1*=4RA > h2*=0OYy 4L 3*=LED V1> RV, EH
L=%—7)IK&EBN=%,BK=8,BU=F
X=EFF :11.6 mm

R412022866, R412027170
+i&

57 32,5 L

4,8
1o 27
' BN
gi [ U—— | S o
1.2 2x 0,14 mm2

30

22,9

%
3* g\ﬁq"

P =gIRA > h2*=0Y IR LU 3*=LED V1> R, &EH
L=47—7)L&k& BN=%, BU=&

EMERSON.



AVENTICS C12P > —X 24Oy R VA 61
2024-03-26

o — 2 1)—XST6

PRA
PRE
CClI

KPZ

UL (Underwriters Laboratories)

31

JU— OdAv&Y -7 HRER YRER FHEE FEDEE EDHEFE FEBHEE
ANE K247 JA/)N\— DC, Kk AC, &K DC. &/> DC, &K AC. &/» AC, &KX

R [A] [A] [V DC] [V DC] [V AC] [V AC]
PRA, —R| RUDL 0.3 0.5 10 30 10 30| BHRE 0.3 R412022873
PRE, 3% B ik
ccl,
KPZ, SSI,
GPC, CVI
PRA, —R| RUEL 0.3 0.5 10 30 10 30| WHERE 0.3 R412022875
PRE, EZL BhIE
ccl,
KPZ, SSlI,
GPC, CVI
PRA, —R| RUDL 0.3 0.5 10 30 10 30| BHRE 0.5 R412022874
PRE, 2 B ik
ccl,
KPZ, SSl,
GPC, CVI
PRA, BEFH| RUIL 0.13 10 30 MHE4E 1, 0.3 R412022859
PRE, PNP 2 B R i
ccl, B ik
KPZ, SSI,
GPC, CVI
PRA, BFH | RUEL 0.13 10 30 A&, 0.3 R412022862
PRE, PNP EZIL i R
ccl, B ik
KPZ, SSI,
GPC, CVI
PRA, EFH| RUDL 0.13 10 30 e B, 0.5 R412022861
PRE, PNP 2 Bt R
ccl, Brik
KPZ, SSlI,
GPC, CVI
PRA, NPN| RUDL 0.13 10 30 e B, 0.3 R412022852
PRE, 2 B R i
ccl, B ik
KPZ, SSI,
GPC, CVI

EMERSON.



AVENTICSC12P 2 )—X 24 0Y R UUHA 62

2024-03-26
&
29,5 L
5.7
2,7 36-41,5
4,8
F 1* 2*
: — = | BF
X \
1" =4{MfRRA > R2*=0OY Y4l 3*=LED T 1> R, EH
L=—7ILk&
X=EF: 11,6 mm, J—K:83mm
R412022873, R412022875, R412022874, R412022859, R412022862, R412022861, R412022852
E &) HT M8x1 (3 &)
1 4 3
S

EMERSON.



AVENTICS C12P > —X 24Oy R VA 63
2024-03-26

oY —, 1) —X SM6

PRA
PRE
CcCl
KPZ
SSi
GPC
CcvI
cULus

BN
BK Ru

G
v/ D
1 D

~ = [~

B
2z
ol

| *

)—X AVRIRNEAT T—7ILEE L B ORI E £ Ecait o9 — XTVTILES
O EZER [m] [mm] [mm]
PRA, PRE, CCl, 7Oy 2 32 45 | THEEM, B R E R412010141
KPZ, SSI, GPC, PriE, BERRE

cVvI
PRA, PRE, CCl, 7Oy 2 64 77 | EEN, B RE R412010143
KPZ, SSI, GPC, Brit, BB RRE

cVvI
PRA, PRE, CCl, 7Oy 2 96 109 | TGN, B RER R412010262
KPZ, SSI, GPC, Bk, BERRE

cvI
PRA, PRE, CCl, 7Oy 2 128 141 | THEHEYE, BERE R412010264
KPZ, SSI, GPC, Brik, BERRE

cvI
PRA, PRE, CClI, 7oy 2 160 173 | RN, BYERER R412010411
KPZ, SSI, GPC, Brit, BB ERE

cVvI
PRA, PRE, CCl, Vo anktsl 2 192 205 | TEsM, B R R412010413
KPZ, SSI, GPC, Brik, BEFRE

cvI
PRA, PRE, CCl, Vioanks 2 224 237 | MEMEMYE, B RE R412010415
KPZ, SSI, GPC, Brik, BERRE

cvI
PRA, PRE, CClI, 7oy 2 256 269 | MY, EitR i R412010417
KPZ, SSI, GPC, Brit, BERERE

cVvI

EMERSON.



AVENTICSC12P 2 )—X 24 0Y R UUHA 64

2024-03-26
Ii&
A L
oy

— "—"égiy—"—"- —— 8 — BK

@ BU
63
24,2
37,1
= —er—— .
© ~
) ) 2
538
[[58]
13,6
1*= LED 2* = #BAR> 3*= A URKE> M3x11
L=r—7ILE&
(2) WH=H
A=t H—FE
4

EMERSON.



AVENTICS C12P > —X 24Oy R VA

65
2024-03-26

oY —, 1) —X SM6

PRA
PRE
CcCl
KPZ
SSi
GPC
CcvI
759
M8x1
cULus
45E

G 1 BN
U |/ D
1 | D

)—X AVRIRNEAT T—7ILEEL B ORI E £ Ecait o9 — XTVTILES
O EZER [m] [mm] [mm]
PRA, PRE, CCl, 7Oy 0.3 32 45 | THEEM, B R E R412010142
KPZ, SSI, GPC, PriE, BERRE

cVvI
PRA, PRE, CCl, 7Frayg 0.3 64 77 | B RERRLLE, MR R412010144
KPZ, SSI, GPC, RERIE, BAERR

cVvI E
PRA, PRE, CCl, 7Oy 0.3 96 109 | e ERFAIE, ik R412010263
KPz, SSI, GPC, K&, BEREZ

cvI E
PRA, PRE, CCl, 7Oy 0.3 128 141 | BtERERR L, i R412010265
KPZ, SSI, GPC, R, BERARZ

cvI E
PRA, PRE, CClI, 7oy 03 160 173 | B REP L, Mtk R412010410
KPZ, SSI, GPC, RERIE, BERR

cVvI %
PRA, PRE, CCl, Vo ankts 0.3 192 205 | i REBALL, /R R412010412
KPZ, SSI, GPC, RERHIE, BE TR

cvI E
PRA, PRE, CCl, Vioan ks 0.3 224 237 | WmEREBLL, &R R412010414
KPZ, SSI, GPC, RERLE, BERRZ

cvI E
PRA, PRE, CCl, 7Oy 0.3 256 269 | MW RERPLIE, MR R412010416
KPZ, SSI, GPC, RERSIE, BERR

cVvI E

EMERSON.



AVENTICSC12P 2 )—X 24 0Y R UUHA

66
2024-03-26

M8x1

T
1 x B
A L
—-%@—-@-—-— ——— =
© ~40
24,2
37,1
28,1
il P
© oL
o} ) D 2
1)
5,8
13,6

1*=LED 2* = 2BRAE> 3*= A UA&HE> M3x11

L=—7IRe

E> &IV HT: 1= (+),2=(0OUT 1) 3=(GND), 4 = (OUT 2), EN 60947-5-7
A=t —KZ

2~ i —4
.

EMERSON.



AVENTICSC12P > —X 24 0OY R YA

67
2024-03-26

toH%—, 21 )—X SN6

739
BBEX

LIIRE R LIHRE R EBEE EBHEE EBEE EBEE XTUTILES
DC. &Kk AC, &Kk DC. &/» DC. &K AC. &) AC, &KX
[A] [A] [V DC] [V DC] [VAC] [VAC]
—R 218 3 3 10 48 10 48 8940410602
J—R 28 0.5 0.5 10 48 10 48| iR ¥Ry 8940410612
1k

EMERSON.



AVENTICS C12P > —X 24Oy R VA 68
2024-03-26

1.5

™
-y

10,4

|
1

1) LED
2) Y1}

EMERSON.



AVENTICS C12P > —X 24Oy R VA 69
2024-03-26

dyey 7-—7 BRE 77 YRER YRER FHEE FDEE FHEE FDHEE XTUTILES
heA47 LAN— #HEBH JIKREL DC, |®A AC, &K DC, &/ DC, &K AC, &/ AC, &K
(m] (Al (Al [vDC]  [VDC] [VAC] [VAC]
U—R| RUEIL 21 25 0.5 0.5 10 48 10 48| iR 8940412022
EZL Bk
U—Rk| RUEIL 218 6 0.5 0.5 10 48 10 48| fattRim 8940412032
EZL Bk
U—Kk| RUEI(L 218 25 3 3 10 48 10 48| fattiE 8940411902
EZL Bk
U—K| RUEI(L 218 10 3 3 10 48 10 48| Mt 8940411922
EZL Bk
i
3*

“ I_l:_JJ
% % ___3
| , | Y
I [
M4 @32 l !
- ’ | =
i
| 35 o
o d -
4
A 1 ]
|
|
. ———————i—————-———%—(‘f—— ‘ BN
. ﬂjﬁ_ BU
bl | Ei
o - 23 _ - L |

1*=4Ifam 2= V5> 7l 3*=LED
L=4—7)L&& BN=%, BU=F

4

o

EMERSON.



AVENTICSC12P > —X 24 0OY R YA 70
2024-03-26

Y —H1T i+, 1) —X CB1

SV —3 &
[mm]

160 200 ST6, SN2, SN6, SN1, SM6 FILZZOLA R412017979

1) &) ©2,50 Mai

N9 7TRUEY 2) BV —ABERL 3) 2/0OY kK4)>UZ—7O7 74

MA1 [Nm]
160 -
R412017979 16 51 36 6.8 36 2
200 mm
250 -
R412017980 24 56 445 6.8 36 2
320 mm

MRy M BEERUMGE

EMERSON.



AVENTICSC12P > —X 24 0OY R YA 71
2024-03-26

Y —H1T i+, 1) —X CB1

ST6
SM6
SN1
SN2

PN SRk UN
[mm]

125 125 FILZZOLA 1827020292

5)

4)

2) B9 O 3

9527
RlEY>

1827020292 125 mm 12 45 29 6.5 21 M5x10 2

MA1 [Nm]

EMERSON.



AVENTICSC12P > —X 24 0OY R YA

72

2024-03-26

Y —H1T i+, 1) —X CB1

ST6
SM6

PN SRk UN

[mm]
32 40 FILZZOLA 1827020282
50 63 TILZZOA 1827020283
80 100 FILZZT LA 1827020284
= G =
5) - -
4) =
\ @

1) &) ©25 @Mm

2) o @@

NOZ07RUEY 2) Y —RABEERL 3) Y —4) 2 UX—-7TO7 745 2140 K

MA1 [Nm]
1827020282 | 32-40 mm 26 10 7 14 5 8 40 M5x8 2102
1827020283 | 50 - 63 mm 32,5 15.5 7 14 5 8 40 M5x10 2+0,2
1827020284 | 80 - 100 mm 43 17 6.9 14 5 8 40 M5x16 2102

\

&

EMERSON.



AVENTICSC12P > —X 24 0OY R YA

73

2024-03-26

Y —H1T i+, 1) —X CB1

SN6

PN SRk UN

[mm]
32 63 FILZZIA 3220613562
80 125 FILZZIA 3220643562
/\ - F -
1) £ 0250w G
: A
) @ @
0 O

)97 7TRlUEY

MA1 [Nm]

3220643562

80 - 125 mm

35

22

21

23

M4

M5

1,8+0,4

3220613562

32-63 mm

35

22

21

23

M4

M5

1,8+0,4

EMERSON.



AVENTICSC12P > —X 24 0OY R YA 74
2024-03-26

ABEAKIRY R, 1) —X CON-RD

Vv h
M8x1
3t

Eifi. A B LA
&KX e — BElRT— ERE
[A] 7E JILE [°C]
7 & B HBKX
[mm] [mm]
48V AC/ 3| A-O—R| FED—I| BGBAEF 4 35 5 -25 80 1834484173
DC it R 7

1834484173
EVEINET, YTy h

1

EMERSON.



AVENTICSC12P > —X 24 0OY R YA 75
2024-03-26

ABEAKIRY R, 1) —X CON-RD

Vv K
M8x1
3

i

r

e n] Ee2 ] RDE REE

BEBT— BT — ERE ERE
7JILE 7JILE [°C] [°C]
-G\ B EKX
[mm] [mm]
48V AC/ 3ME| A-O—K| FZ—I| BRAEF 4 3.5 5 -40 85 1834484174
DC it [N 7
+3&E (mm)
ca. 28,0

|
M8x1
29,7
211,6

12,5

max.2 5,0

1834484174
EVENET, YTy ks

1

EMERSON.



AVENTICSC12P > —X 24 0OY R YA

76
2024-03-26

ABEAKIRY R, 1) —X CON-RD

YTy k
M8x1

EHEE BR =) BER BERE EXELR EX g—7 T— Bk ®2E BB NTUTILES
[A] Fa4vT BHE1, H1,R 1,d— B2 JIRE JII-g #HEE HBEE HIE
247 LYR F4a2T BAL4T [m] [mm] [mm?] [°C] [°C]
Y4 X
48V AC/ 4| k=)L | VYTV K M8x1| A-J—|BLWTWL 3 45 0.24 25 85 1834484166
DC K kit | B —7
L Dig
48V AC/ 4|k —)I | YTV R M8x1| A-J—|BLWTWL 5 45 0.24 25 85 1834484168
DC [N Rit | 25 —7
ROy
48V AC/ 4| k—=I | VYTV K M8x1| A-J— |[BALTL 10 45 0.24 25 85 1834484247
DC R RiL | d5—7
ROY:
1%
L
~40
2
w i
<
i Eﬂ
| e
=~ x
SEE T =
S & =39
!
32
3x0,25mm?
L= Re

1834484166, 1834484168, 1834484247
EVEAIWHT, YTy K

1

3 4

(1) BN=2 (3) BU=% (4) BK=2

EMERSON.



AVENTICSC12P > —X 24 0OY R YA 77
2024-03-26

ABEAKIRY R, 1) —X CON-RD

Vv h
M8x1

EBEE TR - BER BERE EXER EBX g—7 J— Bk BPE &sA XTUTILES
[A] Fa4U BEHE1, H1,A 1,0— B2 IIRE JII-g #EME BEREE FEEE
2AL7 LYR Fa2T BAT [m] [mm] [mm?] [°C] [°C]
Y4 X
48 V AC/ 41— |VYTY N M8x1| A-J—|BLWTWL 3 45 0.24 -40 85 1834484167
DC R RiE | Br—7
L Dig
48 V AC/ 41— | VYTV N M8x1| A-J—|BLWTWL 5 4.5 0.24 -40 85 1834484169
DC N Rit| 5 —7
LD
48 V AC/ 41— | YTV M8x1| A-Jd—|BLWTWL 10 4.5 0.24 -40 85 1834484248
DC R RiE | B —7
ROY:
1%
@10
M8x1_

|
<t
Q \

N—
3 |
Te]

L ___T____E_B_E____Jg_(gr_______
1 I

16 32

= ~20'5 = - ~40
L N

EMERSON.



AVENTICSC12P 2 )—X 24 0Y R UUHA 78
2024-03-26

1834484167, 1834484169, 1834484248
EVEVET, YTY N

1

3 4

(1) BN=2%t (3) BU=%& (4) BK=2

EMERSON.



nh elisen: T 12

Efficient pneumatic solutions, our program:
cylinders and drives, valves and valve systems,
air supply management

Visit us: Emerson.com/Aventics
Your local contact: Emerson.com/contactus

Q, Emerson.com
ﬁ Facebook.com/EmersonAutomationSolutions
LinkedIn.com/company/Emerson-Automation-Solutions

pu—

"/ Twitter.com/EMR_Automation

An example configuration is depicted on the title page. The delivered product may thus vary from that in the illustration. Subject to change. This
Document, as well as the data, specifications and other information set forth in it, are the exclusive property of AVENTICS GmbH. It may not be
reproduced or given to third parties without its consent. Only use the AVENTICS products shown in industrial applications. Read the product
documentation completely and carefully before using the product. Observe the applicable regulations and laws of the respective country. When
integrating the product into applications, note the system manufacturer’s specifications for safe use of the product. The data specified only serve
todescribe the product. No statements concerning a certain condition or suitability for a certain application can be derived from our information
The information given does not release the user from the obligation of own judgment and verification. It must be remembered that the products
are subject to a natural process of wear and aging.

The Emerson logo is a trademark and service mark of Emerson Electric Co. Brand logotype are registered trademarks of one of the Emerson
family of companies. All other marks are the property of their respective owners. © 2019 Emerson Electric Co. All rights reserved.

EMERSON

CONSIDER IT SOLVED




